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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce with Corporate Secretaryship 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Management. 

 ÷©»õsø© Áøμ¯Ö. 

2. What is Administration? 

 {ºÁõP® GßÓõÀ GßÚ? 

3. Define Planning. 

 vmhªhÀ Áøμ¯Ö. 

4. What is MBO? 

 G®.¤.K GßÓõÀ GßÚ? 

5. What do you mean by span of management? 

 ÷©»õsø© Ãa\ÍÄ GßÓõÀ GßÚ? 

6. Define Delegation. 

 AvPõμ J¨£øh¨¦ Áøμ¯Ö. 
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7. Define Communication. 

 uPÁÀ öuõhº¦ Áøμ¯Ö. 

8. Who is a leader? Write any good qualities of a leader. 

 uø»Áº Gß£Áº ¯õº? J¸ uø»Á›ß |À» Sn[PøÍ 
GÊxP. 

9. What do you mean by budgetary control? 

 ÁμÄ ö\»Äz vmh Pmk¨£õk GßÓõÀ GßÚ? 

10. Write any two important ethics to be followed in any 
business. 

 G¢uöÁõ¸ ÁoPzv¾® ¤ß£ØÓ ÷Ási¯ •UQ¯©õÚ 
Cμsk ö|Ô•øÓPøÍ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Examine the difference between management and 
administration. 

  ÷©»õsø©US® {ºÁõPzvØS® EÒÍ ÷ÁÖ£õmøh 
Bμõ²[PÒ. 

Or 

 (b) Explain the nature of Management. 

  ÷©»õsø©°ß ußø©ø¯ ÂÍUSP. 

12. (a) What are the steps involved in the planning 
process? 

  vmhªhÀ ö\¯À£õmiÀ EÒÍ £iPÒ GßÚ? 

Or 

 (b) Elucidate the concept of MBO. 

  G®.¤.K&ß P¸zøu öuÎÄ£kzuÄ®. 
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13. (a) Distinguish between centralisation and 
decentralisation. 

  ø©¯¨£kzuÀ ©ØÖ® £μÁ»õUP® BQ¯ÁØøÓ 
÷ÁÖ£kzx[PÒ. 

Or 

 (b) Draw the structure of organisation. 

  Aø©¨¤ß Pmhø©¨ø£ Áøμ¯Ä®. 

14. (a) List out the Principles of Directing. 

  C¯USÁuØPõÚ öPõÒøPPøÍ £mi¯¼k. 

Or 

 (b) Enumerate the qualities of a good leader. 

  J¸ |À» uø»ÁÛß Sn[PøÍ £mi¯¼k. 

15.  (a) Define Management Audit. Explain the importance 
of Management audit. 

  ÷©»õsø© uoUøPø¯ Áøμ¯ÖUPÄ®. 
÷©»õsø© uoUøP°ß •UQ¯zxÁzøu 
ÂÍUPÄ®. 

Or 

 (b) What are the types of budgets? Explain. 

  ÁμÄ ö\»Äz vmhzvß ÁøPPÒ GßÚ? ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Is Management a Science or an Art? Discuss. 

 ÷©»õsø© Gß£x AÔÂ¯»õ AÀ»x Pø»¯õ? 
ÂÁõvUPÄ®. 
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17. Explain briefly the various kinds of planning. 

 £À÷ÁÖ ÁøP¯õÚ vmhªhÀPøÍ _¸UP©õP ÂÍUSP. 

18. Explain the types of organization. 

 Aø©¨¤ß ÁøPPøÍ ÂÍUSP. 

19. Discuss in detail Maslow’s Theory of motivation. 

 ©õì÷»õÂß E¢xuÀ ÷Põm£õk £ØÔ Â›ÁõP 
ÂÁõvUPÄ®. 

20. Describe different types of budgetary control techniques. 

 £À÷ÁÖ ÁøP¯õÚ ÁμÄ ö\»Ä vmhU Pmk¨£õmk 
~m£[PøÍ ÂÁ›UPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION,  
NOVEMBER 2024 

First Semester 

Commerce With Corporate Secretaryship 

FINANCIAL ACCOUNTING – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an account? 

 PnUS GßÓõÀ GßÚ? 

2. What do you mean by Business Transaction? 

 ÁoP £›ÁºzuøÚ GßÓõÀ GßÚ? 

3. What is the Error of duplication? 

 |Pö»k¨¤ß ¤øÇ GßÚ? 

4. Define the Prepaid expenses. 

 •ßøÁ¨¦ ö\»ÄPøÍ Áøμ¯ÖUPÄ®. 

5. What are the Endorsing Bill? 

 J¨¦uÀ ©÷\õuõ GßÓõÀ GßÚ? 

6. Give the meaning of Retiring of Bills. 

 ¤ÀPÒ v¸®£¨ ö£ÖuÀ Gß£uß ö£õ¸øÍU öPõk[PÒ. 

Sub. Code 
22BCS1C2 



S–5133 

  

  2

7. What is meant by consignment account? 
 \μUS PnUS GßÓõÀ GßÚ? 

8. What are the Normal losses? 
 C¯À£õÚ CÇ¨¦PÒ Gß£x ¯õx? 

9. What is insurance claim? 
 Põ¨¥k ÷Põ›UøP GßÓõÀ GßÚ? 

10. Define the joint Venture. 
 Tmk •¯Ø]ø¯ Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between the financial accounting and 
cost accounting. 

  {vU PnUQ¯À ©ØÖ® ö\»ÄU PnUQ¯ø» 
÷ÁÖ£kzx[PÒ. 

Or 

 (b) The following balances are extracted from the books 
of Mr. Dhasan on 31st December 2007. Prepare a 
Trial Balance. 

Name of Account Amount  Name of Account Amount

Dhasan’s Capital 15,000  Sales 75,000

Dhasan’s Drawings 2,500  Return Inwards 1,000

Furniture and Fittings 1,300  Discounts (Dr) 800

Bank Overdraft 2,100  Discounts (Cr) 1,000

Sundry Creditors 5,500  Taxes 1,000

Business Premises 10,000  General Expenses 2,000

Stock (1st January’07) 11,000  Salaries 4,500

Sundry Debtors 9,000  Commissions (Dr) 1,100

Rent from Tenants 500  Reserve for Bad and  

Purchases 55,000  doubtful debts 1,000

   Carriage on purchases 900
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  31Áx i\®£º 2007 AßÖ v¸. uõ\Ûß 
¦zuP[PÎ¼¸¢x ¤ßÁ¸® {¾øÁPÒ 
¤›zöukUP¨£mhÚ. J¸ ÷\õuøÚ C¸¨ø£z 
u¯õ›UPÄ®. 

PnUSz uø»¨¦ ¹.  PnUSz uø»¨¦ ¹. 

uõ\Ûß ‰»uÚ® 15,000  ÂØ£øÚ 75,000
uõ\Ûß KÂ¯[PÒ 2,500  EÒ÷|õUQz v¸¨¦ 1,000
©μa\õ©õßPÒ ©ØÖ®    uÒÐ£i (Dr) 800

ö£õ¸zxuÀPÒ 1,300  uÒÐ£i (Cr) 1,000

Á[Q ªøP¨£ØÖ  2,100  Á›PÒ 1,000
]À»øÓU Phß ÁμÁõÍºPÒ 5,500  ö£õx ö\»ÄPÒ 2,000
ÁoP ÁÍõPzvÀ 10,000  \®£Í® 4,500
C¸¨¦ (1.1.07) 11,000  ÂØ£øÚ £[S (Dr) 1,100

]À»øÓU Phß £ØÓõÎPÒ 9,000  wø©UPõÚ JxURk 1,000
SzuøPuõμºPÎhª¸¢x ÁõhøP 500  öPõÒ•uÀ Ási 

öPõÒ•uÀ 55,000  ÁõhøP 900

12. (a) What do you understand by adjusting entries? How 
will you deal with in the final account? 

  EÒÏkPøÍa \›ö\´Áuß ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? CÖvU PnUQÀ }[PÒ GÆÁõÖ 
øP¯õÒÃºPÒ? 

Or 

 (b) The Trial balance of Balance on 31st December 2004, 
showed a difference of Rs. 580. It was put to a 
Suspense Account and the books were closed. On 
going through the books in January 2005, the 
following errors were discovered. 

  (i) Rs. 540 received from Mehta was posted to the 
debit of his account 

  (ii) Rs. 100 being purchase Returns was posted to 
the debit of purchase Account 
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  (iii) Discount Rs. 200 received, entered in the cash 

book was not posted to the ledger. 

  (iv) Rs. 574 paid for repairs to motor car was 

debited to the motor car account as Rs. 174 

  (v) A sale of Rs. 350 to Sethi was debited to the 

motor car account as Rs. 530 

  (vi) While carrying forward total of one page in 

Karnal account, the amount of Rs. 250 was 

written on the credit side instead of debit side. 

  (vii) The purchase of machinery on 1st January 

2004 for Rs. 6,000 was entered in the 

purchases account. 

   You are required to pass rectifying journal 

entries and prepare the Suspense Account. 

  i\®£º 31, 2004 AßÖ £õ»Ûß ÷\õuøÚ C¸¨¦  

¹. 580 Âzv¯õ\zøuU Põmi¯x. Ax J¸ uÛU 

PnUQÀ ÷£õh¨£mk ¦zuP[PÒ ‰h¨£mhÚ. 

áÚÁ› 2005CÀ AÁμx ¦zuP[PÒ RÌPsh 

¤øÇPÒ PshÔ¯¨£mhÚ. 

  (i) ÷©zuõÂhª¸¢x ö£Ó¨£mh ¹. 540 AÁμx 

PnUQÀ £ØÖ øÁUP¨£mhx 

  (ii) ¹. 100 öPõÒ•uÀ v¸¨£® uÁÖu»õP 

öPõÒ•uÀ PnUQÀ £ØÖ øÁUP¨£mhx 

  (iii) ö£Ó¨£mh uÒÐ£i ¹. 200, öμõUP¨  

¦zuPzvÀ EÒÎh¨£mhx ÷£÷μmiÀ 
CkøP°h¨£hÂÀø» 
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  (iv) ÷©õmhõº Põøμ £Êx £õº¨£uØPõP 
ö\¾zu¨£mh ¹. 574 ÷©õmhõº Põº PnUQÀ 
¹. 174 BP¨ £ØÖ øÁUP¨£mhx 

  (v) ÷\zvUS ÂØ£øÚ ö\´u ¹. 350 ÷©õmhõº Põº 
PnUQÀ ¹. 530 BP £ØÖ øÁUP¨£mhx. 

  (vi) PºÚÀ PnUQøÚ •ßöÚkzxa 
ö\À¾®ö£õÊx J¸ £UPzvß ö©õzu öuõøP 
¹. 250 £ØÖ £SvUS £v»õP ÁμÄ¨ £Sv°h 
GÊu¨£mhx. 

  (vii) áÚÁ› 1, 2004&À Áõ[Q¯ C¯¢vμzvß ©v¨¦ 
¹. 6,000 öPõÒ•uÀ PnUQÀ £vÂh¨£mhx. 

   v¸zu¨£mh SÔ¨÷£mk £vÄPÐhß uÛU 
PnUQøÚz u¯õ›UPÄ®. 

13. (a) Distinction between Bill of Exchange and 
promissory note. 

  ©õØÖa^mk ©ØÖ® PhÝÖv BÁnzvØS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍU TÖP. 

Or 

 (b) State the importance of Accommodation Bill. 
  PhÝuÂ Esi¯¼ß •UQ¯zxÁzøuU 

SÔ¨¤hÄ®. 

14. (a) From the following, determine the amount to be 
debited to Income and Expenditure a/c and the 
amount to be shown on the Balance Sheets 

 Rs. 

Stock of stationery on 1.4.2005 250

Stock of stationery on 3.3.2006 100

Purchase of stationery during the year 2005-2006 2,800

Stationery bill o/s for 1.4.2005 120

Stationery bill o/s for 31.3.2006 200

Stationery paid in advance on 31.3.2005 140

Stationery paid in advance on 31.3.2005 180
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  ¤ßÁ¸ÁÚÁØÔÀ C¸¢x Á¸©õÚ® ©ØÖ® ö\»Ä 
A/cUS £ØÖ øÁUP¨£h ÷Ási¯ öuõøP ©ØÖ®  
C¸¨¦{ø»U SÔ¨¤À Põmh¨£h  ÷Ási¯ öuõøP 
BQ¯ÁØøÓz wº©õÛUPÄ® : 

      ¹. 

1.4.2005 AßÖ GÊxö£õ¸Ò C¸¨¦ 250

3.3.2006 AßÖ GÊxö£õ¸Ò C¸¨¦ 100

2005-2006 B® BsiÀ GÊxö£õ¸Ò öPõÒ•uÀ 2,800

1.4.2005UPõÚ GÊxö£õ¸Ò ¤À 120

31.3.2006 GÊxö£õ¸Ò ¤À {¾øÁ 200

31.3.2005 AßÖ GÊxö£õ¸ÐUS •ßTmi÷¯ ö\¾zv¯x 140

31.3.2005 AßÖ GÊxö£õ¸ÐUS •ßTmi÷¯ ö\¾zv¯x 180

Or 

 (b) Write a note on Consignment. 
  \μUS £ØÔ¯ SÔ¨ø£ GÊuÄ®. 

15.  (a) State the objectives of Joint ventures. 
  Tmk •¯Ø]PÎß ÷|õUP[PøÍU TÓÄ®? 

Or 

 (b) In preparing the final account of a company, it was 
found that the amount of sundry debtors  
Rs. 2,00,000 includes Rs. 40,000 worth of goods sent 
out on approval and debited to customers account, 
in respect of which the time for returning the goods 
has not expired. These goods have been invoiced at 

%33 3
1

 above the cost. Show the journal entries in 
respect of goods sent on approval basis. 

  J¸ {ÖÁÚzvß CÖvU PnUøPz u¯õ›¨£vÀ, 
£À÷ÁÖ PhÚõÎPÎß öuõøP ¹. 2,00,000 Gß£x 
¹. 40,000 ©v¨¤»õÚ ö£õ¸mPøÍ J¨¦u¼ß ÷£›À 
AÝ¨¤¯øu²® ÁõiUøP¯õÍº PnUQÀ £ØÖ 
øÁUP¨£mkÒÍøu²® EÒÍhUQ¯x BÚõÀ 
ö£õ¸mPøÍ v¸¨¦uØPõÚ Põ»® 
•iÁøh¯ÂÀø». CuØPõÚ Âø»¨£mi¯À 

AhUPÂø»US ÷©À %33 3
1

 AvP©õS®. 
J¨¦u¼À Ai¨£øh°À AÝ¨£¨£mh 
ö£õ¸mPÐUPõÚ SÔ¨÷£mk £vÂøÚ GÊxP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enter the following transactions in the Journal, and post 

them to ledger on 31.01.2007. 

Jan 

2007 

  

1 Harish commenced business with 2,00,000

2 Purchase furniture 20,000

3 Purchase goods for cash 10,000

4 Bought goods on credit from Raja 30,000

5 Bought goods on credit from Bala 40,000

8 Sold goods for cash 30,000

10 Sold goods on credit to Ram 45,000

12 Cash paid to Raja 25,000

14 Ram returned damaged goods 1,000

15 Goods returned to Bala 500

18 Cash received from Ram 30,000

19 Stationery purchased 2,000

25 Salaries paid 3,000

30 Rent 2,000
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 RÌPsh £›ÁºzuøÚPøÍ SÔ¨÷£miÀ £vÄ ö\´x, 
AÁØøÓ 31.1.2007 AßÖ ÷£÷μmiÀ CkøP°hÄ®. 

áÚÁ› 
2007 

  

1 í›è öuõÈÀ öuõh[QÚõº 2,00,000

2 uÍÁõh[PÒ Áõ[Q¯x 20,000

3 Põ_US ö£õ¸mPÒ Áõ[Q¯x 10,000

4 μõáõÂh® PhÛÀ ö£õ¸mPøÍ Áõ[Q¯x 30,000

5 £õ»õÂh® PhÛÀ ö£õ¸mPøÍ Áõ[Q¯x 40,000

8 Põ_US ö£õ¸mPøÍ ÂØÓx 30,000

10 PhÛÀ μõ•ÄUS ÂØÓx 45,000

12 μõáõÄUS öμõUP® ÁÇ[Q¯x 25,000

14 μõ® ÷\u©øh¢u ö£õ¸mPøÍ v¸¨¤ öPõkzuõº 1,000

15 £õ»õÂh® ö£õ¸mPøÍ v¸®¤¯x 500

18 μõªh® £n® ö£Ó¨£mhx 30,000

19 GÊxö£õ¸mPÒ Áõ[Q¯x 2,000

25 \®£Í® ÁÇ[Q¯x 3,000

30 ÁõhøP 2,000

17. Following are the balances extracted from the books of 
Goodwill Company on 31.12.2005. Prepare Trading, 
Profit and Loss account and Balance Sheet after 
considering the adjustments given below. 

Particulars Amount  Particulars Amount

Capital 35,000  Drawings 6,000

Furniture 2,600  Bank Overdraft 4,200

Stock (01.01.2005) 20,000  Sundry creditors 13,800

Debtors 15,000  Business premises 24,000

Purchases 1,12,000  Rent from tenants 1,000

Salaries 12,000  Taxes and Insurance 2,000
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Particulars Amount  Particulars Amount

Commission (Dr) 1,600  General expenses 4,000

Carriage 2,000  Discount (Cr) 2,000

Discount (Dr) 2,000  Bad debts 800

Sales 1,50,000  Sales return 2,000

 Adjustments: 

 (a)  Stock on hand on 31.12.2005 Rs. 20,000 

 (b) Write of depreciation – Business premises –  
Rs. 1,000 and Furniture – Rs. 600 

 (c) Make a reserve of 5% on debtors for doubtful debts 

 (d) Allow interest on capital at 5% 

 (e) Carry forward Rs.200 for unexpired insurance 

 31.12.2005 AßÖ SmÂÀ {ÖÁÚzvß ¦zuP[PÎ¼¸¢x 
¤›zöukUP¨£mh {¾øÁPÒ ¤ßÁ¸©õÖ, R÷Ç 
öPõkUP¨£mkÒÍ ©õØÓ[PøÍU P¸zvÀ öPõsk 
ÁºzuP®, »õ£ |mhU PnUS ©ØÖ® C¸¨¦{ø»z uõøÍz 
u¯õ›UPÄ®. 

       ÂÁμ[PÒ  öuõøP             ÂÁμ[PÒ  öuõøP

‰»uÚ® 35,000  Áøμ£h[PÒ 6,000

©μa\õ©õßPÒ 2,600  Á[QªøP¨ £ØÖ 4,200

C¸¨¦ (01.01.2005) 20,000  Phß ÁÇ[S£ÁºPÒ 13,800

PhÚõÎPÒ 15,000  ÁoP ÁÍõP® 24,000

öPõÒ•uÀ 1,12,000  SzuøPuõμºPÎhª¸¢x 

\®£Í® 12,000  ÁõhøP 1,000

Pªåß (£ØÖ) 1,600  Á› ©ØÖ® Põ¨¥k 2,000

Fºv 2,000  ö£õx ö\»ÄPÒ 4,000

uÒÐ£i (£ØÖ) 2,000  uÒÐ£i (ÁμÄ) 2,000

ÂØ£øÚ 1,50,000  ÷©õ\©õÚ PhßPÒ 800

   ÂØ£øÚ v¸®¦® 2,000
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 \›ö\´uÀ : 

 (A)  31.12.2005 AßÖ øP°¸¨¦ ¹. 20,000 

 (B) ÷u´©õÚ® GÊxuÀ – ÁoP ÁÍõP® –  

¹. 1,000 ©ØÖ® ©μUP»[PÒ «x  – ¹. 600 

 (C) \¢÷uPzvØQh©õÚ PhßPÐUS PhÚõÎPÎh® 5% 
C¸¨¦ øÁUPÄ®. 

 (D) ‰»uÚzvØS 5% Ámiø¯ AÝ©vUPÄ®. 

 (E) Põ»õÁv¯õPõu Põ¨¥miØS ¹. 200 •ßöÚkzx 
ö\À»Ä®. 

18. Explain the types of Negotiable instrument. 

 ö\»õÁoU P¸Â°ß ÁøPPøÍ ÂÍUSP. 

19. Describe the different types of Non-trading organisations. 

 £À÷ÁÖ ÁøP¯õÚ ÁºzuP® AÀ»õu {ÖÁÚ[PøÍ 
ÂÁ›UP. 

20. Ravi and Balu entered into a joint speculation and 
purchase an old house with extensive grounds for  
Rs. 8,000 each contributing Rs. 4,000. For an agreed fee 
of Rs. 500, Ravi is to manage the disposal of the property. 
Sale of internal fittings, windows etc. amount to  
Rs. 1,700. Ravi pays Rs. 300 for demolishing the house, 
material of which realized Rs. 200. Sundry expenses paid 
by Ravi were Rs. 100 and the whole of the land is 
eventually sold for Rs. 9,000. Ravi and Balu share the net 
profits equally. Ravi paying Balu his share by cheque. 
Record these transactions in Ravi’s Journal and show 
Joint Venture a/c and Balu’s a/c in his Ledger. 
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μÂ²® £õ¾Ä® J¸ Tmk FPÁoPzvØSÒ ~øÇ¢x,  

¹. 8,000&US J¸ £øÇ¯ Âmøh Â›¢u ø©uõÚzxhß 
Áõ[SQÓõºPÒ CuØS JÆöÁõ¸Á›ß £[PÎ¨¦  

¹. 4,000. J¨¦UöPõsh Pmhn©õP ¹. 500USÒ, μÂ 
ö\õzøu ÂØP ÷Ásk®. EÒö£õ¸zxuÀPÒ, áßÚÀPÒ 

BQ¯ÁØøÓ ÂØÓx ¹. 1,700. μÂ Ãmøh Ci¨£uØS  

¹. 300 ö\»Âmhõº, AÁØøÓ ÂØÓvÀ Qøhzux ¹. 200. 
μÂ ö\¾zv¯ £À÷ÁÖ ö\»ÄPÒ ¹. 100 BS®. {»® 

•ÊÁx® ¹. 9,000US ÂØP¨£mhx. μÂ²® £õ¾Ä® {Pμ 
»õ£zøu \©©õP ¤›zxU öPõshÚº. £õ¾ÂØS uÚx 
£[øP μÂ Põ÷\õø»¯õP ö\¾zvÚõº. 

 C¢u £›ÁºzuøÚPøÍ μÂ°ß SÔ¨÷£k ©ØÖ® 
Tmhõsø©U PnUQøÚU Põs¤UP ©ØÖ® £õ¾Âß 
PnUQøÚ²® AÁμx ÷£÷μmiÀ £vÂkP. 

  

———————— 
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B.Com (CS) DEGREE EXAMINATION, NOVEMBER 2024 

Commerce with Corporate Secretarship 

Allied – TOURISM MARKETING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define tourism marketing. 
 _ØÖ»õ \¢øu°køP – Áøμ¯ÖUPÄ®. 

2. What are the motives that drive people to engage in 
tourism activities? 

 _ØÖ»õ £¯n® ö\´¯ ©UPøÍ ysk® |hÁiUøPPÒ 
GßÚ? 

3. What is the effect of tourism on local economies. 
 EÒÑº ö£õ¸Íõuõμ[PÎÀ _ØÖ»õÂß uõUP® GßÚ? 

4. List the advantages of package tour. 
 öuõS¨¦ _ØÖ¨ £¯nzvß |ßø©PøÍ £mi¯¼kP. 

5. Describe the reasons for the failure of tourism products in 
the market. 

 \¢øu°À _ØÖ»õ ö£õ¸mPÒ ÷uõÀÂ¯øhÁuØPõÚ 
Põμn[PøÍ ÂÁ›UPÄ®. 

6. What is a pricing policy? 
 Âø»U öPõÒøP GßÓõÀ GßÚ? 

7. List the factors that influence tourism pricing decisions. 
 _ØÖ»õ Âø» •iÄPÎÀ uõUPzøu HØ£kzx® 

PõμoPøÍ £mi¯¼kP. 

Sub. Code 
22BCSA1 
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8. Explain the role of middlemen in the tourism industry 
with a focus on travel agents. 

 £¯n •PÁºPøÍ ø©¯©õPU öPõsk _ØÖ»õzxøÓ°À 
CøhzuμPºPÎß £[øP ÂÍUSP. 

9. Mention the functions of travel guides. 
 £¯n ÁÈPõmiPÎß ö\¯À£õkPøÍ SÔ¨¤hÄ®. 

10. What are the key tools used in tourism promotions 
strategy? 

 _ØÖ»õ FUSÂ¨¦ Ezv°À £¯ß£kzu¨£k® •UQ¯ 
P¸ÂPÒ ¯õøÁ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Discuss the typology of tourism and its impact on 
different tourist segments. 

  _ØÖ»õÂß ÁøPø© ©ØÖ® £À÷ÁÖ _ØÖ»õ¨ 
¤›ÄPÎÀ Auß uõUP® £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain the significance of tourism marketing in 
promoting sustainable tourism practices. 

  {ø»¯õÚ _ØÖ»õ |øh•øÓPøÍ ÷©®£kzxÁvÀ 
_ØÖ»õ \¢øu¨£kzu¼ß •UQ¯zxÁzøu 
ÂÍUPÄ®. 

12. (a) Analyse the formulation of tourism product mix and 
its role in attracting tourists. 

  _ØÖ»õ ö£õ¸m P»øÁ°ß E¸ÁõUP® ©ØÖ® 
_ØÖ»õ¨ £¯oPøÍ Dº¨£vÀ Auß £[øP 
£S¨£õ´Ä ö\´P. 

Or 

 (b) Describe the importance of package tours in the 
growth of the tourism industry. 

  _ØÖ»õzxøÓ°ß ÁÍºa]°À öuõS¨¦a _ØÖ»õÂß 
•UQ¯zxÁzøu ÂÁ›UPÄ®. 
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13. (a) Explain the pricing objectives and pricing policies in 
the tourism sector. 

  _ØÖ»õzxøÓ°À Âø» {ºn¯ ÷|õUP[PÒ ©ØÖ® 
Âø»U öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) Discuss the factors that influence the pricing of 
tourism products. 

  _ØÖ»õ ö£õ¸mPÎß Âø» {ºn¯zøu £õvUS® 
PõμoPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

14. (a) Evaluate the distribution policy in the tourism 
industry and the role of various distribution 
systems. 

  _ØÖ»õzxøÓ°À Â{÷¯õPU öPõÒøP ©ØÖ® 
£À÷ÁÖ Â{÷¯õP Aø©¨¦PÎß £[øP ©v¨¥k 
ö\´P. 

Or 

 (b) Describe the functions and design of a travel agency 
office. 

  £¯n •PÁº A¾Á»Pzvß ö\¯À£õkPÒ ©ØÖ® 
ÁiÁø©¨ø£ ÂÁ›UPÄ®. 

15.  (a) Discuss the role of personal selling in tourism 
promotions and the skills needed for effective 
selling. 

  _ØÖ»õ FUSÂ¨¦PÎÀ uÛ¨£mh ÂØ£øÚ°ß 
£[S ©ØÖ® £¯ÝÒÍ ÂØ£øÚUSz ÷uøÁ¯õÚ 
vÓßPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Analyse the advertising selection process and the 
effectiveness of different media in tourism. 

  ÂÍ®£μz ÷uºÄ ö\¯À•øÓ ©ØÓ® _ØÖ»õÂÀ 
£À÷ÁÖ FhP[PÎß ö\¯ÀvÓøÚ¨ £S¨£õ´Ä 
ö\´P. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the motives behind different types of tourists and 
their impact on tourism destinations. 

 £À÷ÁÖ ÁøP¯õÚ _ØÖ»õ¨ £¯oPÎß ¤ßÚo°À 
EÒÍ ÷|õUP[PøÍ²®, _ØÖ»õzu»[PÎÀ AÁºPÒ 
HØ£kzx® uõUPzøu²® ÂÍUPÄ®. 

17. Discuss the product life cycle in tourism and its 
implications for marketing strategies. 

 _ØÖ»õ ö£õ¸Ò ÁõÌUøP _ÇØ]ø¯ £ØÔ ÂÁõvUPÄ® 
©ØÖ® \¢øu¨£kzuÀ EzvPÎÀ Auß uõUP[PÒ £ØÔ²® 
ÂÁõvUPÄ®. 

18. Evaluate the pricing strategies used in the tourism 
industry and their influence on consumer behaviour. 

 _ØÖ»õzxøÓ°À £¯ß£kzu¨£k® Âø» EzvPÒ ©ØÖ® 
~Pº÷Áõº |hzøu°À AÁØÔß uõUP® BQ¯ÁØøÓ 
©v¨¥k ö\´¯Ä®. 

19. Analyse the role of middlemen, such as travel agents and 
tour operators, in tourism distribution. 

 _ØÖ»õ Â{÷¯õPzvÀ £¯n •PÁºPÒ ©ØÖ® _ØÖ»õ 
HØ£õmhõÍºPÒ ÷£õßÓ CøhzuμPºPÎß £[øP 
£S¨£õ´Ä ö\´¯Ä®. 

20. Design a comprehensive tourism promotions strategy for 
a popular tourist destination. Include the use of 
advertising, personal selling and sales promotion 
techniques. 

 J¸ ¤μ£»©õÚ _ØÖ»õ u»zvØPõÚ Â›ÁõÚ _ØÖ»õ 
FUSÂ¨¦ Ezvø¯ ÁiÁø©UPÄ®. AvÀ ÂÍ®£μ®, 
uÛ¨£mh ÂØ£øÚ ©ØÖ® ÂØ£øÚ FUSÂ¨¦ 
~m£[PøÍ¨ £¯ß£kzuÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is mean by Single entry? 

 JØøÓ¨ £vÄ •øÓ GßÓõÀ GßÚ? 

2. What is net-worth method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

3. What is departmental accounts? 

 xøÓÁõ›U PnUSPÒ GßÚ? 

4. What do you mean by ‘Wholesale Branch’? 

 ‘ö©õzu ÂØ£øÚU QøÍ’ GßÓõÀ GßÚ? 

5. Define Depreciation. 

 ÷u´©õÚzøu Áøμ¯ÖUPÄ®. 

Sub. Code 
22BCS2C1 



S–5135 

  

  2

6. State any two causes for Depreciation. 

 ÷u´©õÚzvØPõÚ H÷uÝ® Cμsk Põμn[PøÍU 
SÔ¨¤hÄ®. 

7. What is Instalment Purchase System? 

 uÁøn öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 

8. Mention any two features of Hire purchase system. 

 ÁõhøP öPõÒ•uÀ •øÓ°ß H÷uÝ® Cμsk 
A®\[PøÍU SÔ¨¤hÄ®. 

9. What is AS8? 

 AS.8 GßÓõÀ GßÚ?  

10. Write a short note on IFRS. 

 IFRS £ØÔ ]Ö SÔ¨ø£ GÊuÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between Single entry and double entry 
system. 

  JØøÓ¨ £vÄ •øÓ ©ØÖ® Cμmøh¨ £vÄ 
•øÓ°øÚ ÷ÁÖ£kzx[PÒ. 

Or 

 (b) Mr. Ragu does not keep proper records of his 
business, he gives you the following information 

  (i) Opening capital Rs. 20,00,000 

  (ii) Closing capital Rs. 42,00,000 

  (iii) Drawing during the Year Rs. 3,00,000 

  (iv) Capital added during the year Rs. 1,00,000 
Calculate the Profit and Loss for the year. 
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  v¸. μS uÚx ÁoPzvß •øÓ¯õÚ £vÄPøÍ 
øÁzv¸UPÂÀø», AÁ¸øh¯ uPÁÀPÒ 
¤ßÁ¸©õÖ : 

  (i) öuõhUP •uÀ ¹. 20,00,000 

  (ii) CÖv •uÀ ¹. 42,00,000 

  (iii) AÆÁõsiß GkUP¨£mh Gk¨¦PÒ  

¹. 3,00,000 

  (iv) AÆÁõsiß AÔ•P¨£kzu¨£mh •uÀ  

¹. 1,00,000 A¢u BsiØPõÚ »õ£® ©ØÖ® 
|èhzøuU PnUQk[PÒ. 

12. (a) Explain the features of different types of branches 
and the type of accounting in them. 

  £À÷ÁÖ ÁøP¯õÚ QøÍPÎß A®\[PøÍ²® 
AÁØÔÀ EÒÍ PnUQ¯À ÁøPø¯²® ÂÍUPÄ®. 

Or 

 (b) From the following particulars prepare a branch 
account showing the profit or loss at the branch. 

  Opening stock at the branch Rs. 1,50,000 

  Sales Rs. 6,00,000 

  Salaries Rs. 50,000 

  Goods sent to the branch Rs. 4,50,000 

  Other Expenses Rs. 20,000. 

  Closing stock could not be ascertained but it is 
known that the branch usually sells at cost plus 
20%. The branch manager is entitled to a 
commission of 5% on the profit of the branch before 
charging such commission. 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x QøÍ°ß »õ£® AÀ»x 
|èhzøuU Põmk® QøÍU PnUøPz u¯õ›UPÄ®. 

  QøÍ°ß öuõhUP \μUQ¸¨¦ ¹. 1,50,000 

  ÂØ£øÚ ¹. 6,00,000 

  \®£Í® 50,000 

  QøÍUS ö£õ¸mPÒ AÝ¨£¨£mhx ¹. 4,50,000 

  Cuμ ö\»ÄPÒ ¹. 20,000. 

  BÚõÀ CÖv \μUQ¸¨ø£ AÔ¯ •i¯ÂÀø». 
ÁÇUP©õP QøÍ°ß AhUP Âø»°À 20% 
ÂØP¨£kQÓx. AzuøP¯ PªåøÚ Á`¼US® •ß 
QøÍ°ß »õ£zvÀ 5% PªåÝUS QøÍ 
÷©»õÍ¸US E›ø© Esk. 

13. (a) Explain about the advantages and limitations of 
Straight line method used for calculation of 
depreciation.  

  ÷u´©õÚ® PnUQk® ÷|º÷Põmk •øÓ°ß 
|ßø©PÒ ©ØÖ® SøÓ£õkPøÍ £ØÔ ÂÍUPÄ®. 

Or 

 (b) A company purchased a Machinery for Rs. 1,00,000. 
The useful life of the machinery is 10 years and the 
residual value is Rs. 20,000. Find out the rate of 
depreciation under the straight line method. 

  J¸ {ÖÁÚ® ¹. 1,00,000US J¸ C¯¢vμzøu 
Áõ[Q¯x. C¯¢vμzvß B²mPõ»® 10 BskPÒ 
©ØÖ® Gg]¯ ©v¨¦ ¹. 20,000. ÷|º÷Põmk 
•øÓ°ß RÌ ÷u´©õÚ ÂQuzøuU PshÔ¯Ä®.  

14. (a) Distinguish between hire purchase and Instalment 
purchase systems. 

  ÁõhøP öPõÒ•uÀ ©ØÖ® uÁøn öPõÒ•uÀ 
•øÓ°ß ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) SK purchased a machine on hire purchase system 
Rs. 30,000 being paid on delivery and the balance in 
five instalments of Rs. 60,000 each, payable 
annually on 31st December, The cash price of the 
machine was Rs. 3,00,000. Calculate the amount of 
interest for each year. 

  SK J¸ C¯¢vμzøu ÁõhøP öPõÒ•uÀ •øÓ°À 
Áõ[SQÓõº. ¹. 30,000 •u¼À ö\¾zxQÓõº. ¤ß¦ 
«u•ÒÍ öuõøP ¹. 60,000 GÚ I¢x uÁønPÎÀ 
Bsk÷uõÖ® i\®£º 31 AßÖ ö\¾zxQÓº. 
C¯¢vμzvß öμõUP Âø» ¹. 3,00,000. JÆöÁõ¸ 
Á¸hzvØPõÚ Ámiz öuõøPø¯U PnUQkP. 

15.  (a) What are the accounting standards? How Indian 
accounting standard and International accounting 
standards are different? 

  PnUQ¯À uμ{ø»PÒ GßÚ? C¢v¯ PnUQ¯À 
uμ{ø» ©ØÖ® \ºÁ÷u\ PnUQ¯À uμ{ø»PÒ 
GÆÁõÖ ÷ÁÖ£kQßÓÚ? 

Or 

 (b) What are the advantages of adopting IFRS? 

  IFRS&I HØÖUöPõÒÁuß |ßø©PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mr.J keep his books on single entry basis. Prepare a 
statement of affairs as on 31.10.2022 and statement of 
profit or loss for the period ending 31.10.2022. 

Assets and Liabilities 1.11.2021 31.10.2022 

Bank balance 560(Cr) 350(Cr) 

Cash on hand 10 50 

Debtors 4,500 3,600 

Stock 2,700 2,900 

Plant 4,000 4,000 

Furniture 1,000 1,000 
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 Adjustments: 

 (a) Mr.J had withdrawn Rs. 2,000 during the year and 
had introduced fresh capital of Rs. 4,200 on 
1.7.2022. 

 (b) A provision of 5% on debtors is necessary. 

 (c) Write off depreciation on plant at 10% and furniture 
at 15%. 

 (d) Interest on capital is to be allowed at 5%. 

 Mr. J uÚx ¦zuP[PøÍ JØøÓ¨ £vÄ •øÓ°À 

øÁzxÒÍõº. 31.10.2022 AßÖÒÍ {ø» ÂÁμU 

SÔ¨ø£²®, 31.10.2022 Põ»zvØPõÚ »õ£® AÀ»x |èh 
AÔUøPø¯²® u¯õº ö\´¯Ä®. 

ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦PÒ 

1.11.2021 
     ¹. 

31.10.2022 
       ¹. 

Á[Q øP°¸¨¦ 560(Cr) 350(Cr) 

öμõUP øP°¸¨¦ 10 50 

PhÚõÎPÒ 4,500 3,600 

\μUQ¸¨¦ 2,700 2,900 

Bø» 4,000 4,000 

AøÓP»ß 1,000 1,000 

 \›UPmk £vÄPÒ : 

 (A) v¸. ÷á A¢u BsiÀ ¹. 2,000 Gk¨¦ AÁμõÀ 

GkUP¨£mhx ©ØÖ® 1.7.2022 ¹. 4,200 ¦v¯ •uø» 
AÁº AÔ•P¨£kzvÚõº. 

 (B) PhÚõÎPÐUS 5% JxURk AÁ]¯® 

 (C) Bø»°ß ÷u´©õÚzøu 10% ©ØÖ® AøÓUP»ß 

÷u´©õÚ® 15% GÚ GÊu¨£mhx. 

 (D) •uÀ «uõÚ Ámi 5% öPõkUP¨£mhx. 
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17. Explain the procedure for preparation of departmental 
accounts. 

 xøÓÁõ›U PnUSPøÍ u¯õ›¨£uØPõÚ |øh•øÓø¯ 
ÂÍUS[PÒ. 

18. A Machine Purchased on 1st July 2013 at a cost of  
Rs. 1,40,000 and Rs. 10,000 was spent on its installation. 
The depreciation is written off at 10% on the original cost 
every year. The books are closed on 31st December each 
year. The machine was sold Rs. 95,000 on 31st March 
2016. Show the machinery account for all years using the 
straight line method.  

 J¸ {ÖÁÚ® 1.7.2013 AßÖ ¹. 1,40,000 ö\»ÂÀ J¸ 
C¯¢vμzøu Áõ[Q¯x. AuøÚ {ÖÄÁuØUPõP ¹. 10,000 
ö\»Ä ö\´ux. JÆöÁõ¸ Bsk® A\À ö\»ÂÀ 10% 
÷u´©õÚ® uÒÐ£i ö\´¯¨£kQÓx. JÆöÁõ¸ Bsk® 
i\®£º 31 AßÖ PnUSPÒ •iUP¨£kQßÓÚ. A¢u 
{ÖÁÚ® C¯¢vμzøu 31.3.2016 AßÖ ¹. 95,000 ÂØÓx. 
÷|º÷Põmk •øÓø¯¨ £¯ß£kzv AøÚzx 
BskPÐUPõÚ C¯¢vμU PnUøP u¯õº ö\´¯Ä®. 

19. Explain the main features of Hire purchase system in 
detail. 

 ÁõhøP öPõÒ•uÀ •øÓ°ß •UQ¯ A®\[PøÍ 
Â›ÁõP ÂÍUS[PÒ. 

20. What are International accounting standards? Also 
discuss the important issues involved in the matching of 
Indian accounting standards with the International 
accounting standards. 

 \ºÁ÷u\ PnUQ¯À uμ{ø»PÒ GßÓõÀ GßÚ? \ºÁ÷u\ 
PnUQ¯À uμ{ø»PÐhß C¢v¯ PnUQ¯À uμ{ø»PøÍ 
ö£õ¸zxÁvÀ EÒÍ •UQ¯©õÚ ]UPÀPøÍ²® 
ÂÁõvUPÄ®. 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write any two major objectives of Banking. 

 Á[Q°ß H÷uÝ® Cμsk •UQ¯ ÷|õUP[PøÍ GÊxP. 

2. List the classification of banks. 

 Á[QPÎß ÁøP¨£õmøh £mi¯¼kP. 

3. What is private sector bank? 

 uÛ¯õº xøÓ Á[Q GßÓõÀ GßÚ? 

4. Define central bank. 

 ©zv¯ Á[Qø¯ Áøμ¯Ö. 

5. What is non performing asset? 

 ö\¯À£hõu ö\õzx GßÓõÀ GßÚ? 

6. What is banking sector reforms? 

 Á[Qz xøÓ ^ºv¸zu[PÒ GßÓõÀ GßÚ? 
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7. Define risk and uncertainty. 

 B£zx ©ØÖ® {a\¯©ØÓ ußø©ø¯ Áøμ¯ÖUPÄ®. 

8. List out the benefits of insurance. 

 Põ¨¥miß |ßø©PøÍ¨ £mi¯¼kP. 

9. Define general insurance. 

 ö£õx Põ¨¥møh Áøμ¯ÖUP. 

10. Write any two functions of Marine insurance. 

 PhÀ Põ¨¥miß H÷uÝ® Cμsk ö\¯À£õkPøÍ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Briefly explain the importance of banking system. 

  Á[Q •øÓ°ß •UQ¯zxÁzøu _¸UP©õP 

ÂÍUS[PÒ. 

Or 

 (b) What are the classifications of bank? 

  Á[Q°ß ÁøP¨£õkPÒ GßÚ? 

12. (a) What are the functions of central bank? 

  ©zv¯ Á[Q°ß ö\¯À£õkPÒ GßÚ? 

Or 

 (b) Explain the functions of commercial banks. 

  ÁoP Á[QPÎß ö\¯À£õkPøÍ ÂÍUS[PÒ. 
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13. (a) What is non-performing asset? Explain its 
classification. 

  ö\¯À£hõu ö\õzx GßÓõÀ GßÚ? Auß 
ÁøP¨£õmøh ÂÍUS[PÒ. 

Or 

 (b) Describe capital adequacy norms in banks. 

  Á[QPÎÀ ‰»uÚ¨ ÷£õx©õÚ AÍÄ Âv•øÓPøÍ 
ÂÁ›UPÄ®. 

14. (a) Explain the functions and benefits of Insurance. 

  Põ¨¥miß ö\¯À£õkPÒ ©ØÖ® £»ßPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Describe the principles of risk insurance. 

  Chº Põ¨¥miß öPõÒøPPøÍ ÂÁ›UPÄ®. 

15. (a) Explain the essential elements of general insurance. 

  ö£õx Põ¨¥miß Azv¯õÁ]¯ TÖPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Mention marine losses and abandonment. 

  PhÀ CÇ¨¦PÒ ©ØÖ® øPÂh¨£kÁøuU 
SÔ¨¤hÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain in detail role of banks in economic development. 

 ö£õ¸Íõuõμ ÁÍºa]°À Á[QPÎß £[øP Â›ÁõP 
ÂÍUPÄ®. 
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17. Describe the services of commercial bank and central 
bank. 

 ÁoP Á[Q ©ØÖ® ©zv¯ Á[Q°ß ÷\øÁPøÍ ÂÁ›UP. 

18. Explain RBI norms for Ombudsman scheme. 

 K®¦mì÷©ß vmhzvØPõÚ RBI Âv•øÓPøÍ ÂÍUSP. 

19. Discuss in detail various classifications of risk. 

 B£zvß £À÷ÁÖ ÁøP¨£õkPøÍ Â›ÁõP ÂÁõvUP. 

20. Explain fundamental principles of Fire insurance. 

 w Põ¨¥miß Ai¨£øhU öPõÒøPPøÍ ÂÍUSP. 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the objectives of accounting? 

 PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. Give the meaning of business entity and going concern 
accounting concepts. 

 öuõÈÀ uÛzußø© ©ØÖ® {ÖÁÚ öuõhºa] 
P¸zxUPÐUPõÚ ö£õ¸Ò u¸P. 

3. What is double entry system of accounting? 

 Cμmøh¨ £vÄ PnUQ¯À •øÓ Gß£x ¯õx? 

4. What is a trial balance? 

 C¸¨¦{ø»U SÔ¨¦ GßÓõÀ GßÚ? 

5. State the purpose of ledger. 

 ÷£÷μmiß ö\¯À÷|õUPzvøÚU TÖP. 

6. What is cash book? 

 öμõUP ¦zuP® Gß£x ¯õx? 
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7. What is imprest system? 
 •ß£nU PnUS •øÓ Gß£x ¯õx? 

8. What is bank reconciliation statement? 
 Á[Q \©μ\ AÔUøP GßÓõÀ GßÚ? 

9. What is the revenue expenditure? 
 Á¸Áõ´ ö\»Ä Gß£x ¯õx? 

10. What are fixed assets? Give examples. 
 {ø»¯õÚ ö\õzxUPÒ GßÓõÀ GßÚ? Euõμn[PÒ u¸P. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Define accounting. Bring out its scope. 
  PnUQ¯ø» Áøμ¯ÖUP. Auß £μ¨ö£Àø»ø¯ 

öÁÎUöPõnºP. 

Or 

 (b) State the golden rules of accounting for different 
types of accounts. 

  £À÷ÁÖ ÁøP PnUSPÐUPõÚ ö£õßÚõÚ 
ÂvPøÍU TÖP. 

12. (a) Following transactions of Kumaran for August, 
2020 are given below. Journalise them : 

2020 Aug  Rs. 

1 Kumaran started business with cash 2,00,000

3 Paid into bank 40,000

4 Bought goods for cash 70,000

7 Drew cash from bank for office use 15,000

8 Sold goods to Krishnan on credit 20,000

11 Bought goods from Shankar on credit 22,500

14 Received from Krishnan 17,500

 Allowed him discount 500



S–5137 

  

  3

2020 Aug  Rs. 

23 Paid cash to Shankar 21,500

 Discount received 1,000

25 Krishnan returned goods 2,000

28 Cash Sales 80,000

31 Paid Rent 10,000

31 Paid Salary 35,000

  BPìm 2020&UPõÚ S©μÛß ¤ßÁ¸® 
£›ÁºzuøÚPøÍ SÔ¨÷£miÀ £vÄ ö\´¯Ä®. 

2020 
BPìm 

 ¹. 

1 S©μß £nzxhß Â¯õ£õμ® öuõh[QÚõº 2,00,000

3 Á[Q°À ö\¾zv¯x 40,000

4 öμõUPzvØS ö£õ¸mPÒ Áõ[Q¯x 70,000

7 A¾Á»P E£÷¯õPzvØS Á[Q°À C¸¢x £n® 
Gkzux 

15,000

8 PhÛÀ Q¸ènÝUS ö£õ¸mPÒ ÂØÓx 20,000

11 PhÛÀ \[P›h® ö£õ¸mPÒ Áõ[Q¯x 22,500

14 Q¸ènÛh® C¸¢x ö£Ó¨£mhx 17,500

 AÁ¸US uÒÐ£i ö\´ux 500

23 \[P¸US £n® ö\¾zv¯x 21,500

 uÒÐ£i Qøhzux 1,000

25 Q¸ènß ö£õ¸mPøÍ v¸¨¤¯x 2,000

28 öμõUP ÂØ£øÚ 80,000

31 ÁõhøP ö\¾zv¯x 10,000

31 Fv¯® ÁÇ[Q¯x 35,000

Or 

 (b) What are the objects and characteristics of trial 
balance? 

  ÷\õuøÚ C¸¨¦{ø»°ß ö£õ¸ÒPÒ ©ØÖ® 
£s¦PÒ ¯õøÁ? 
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13. (a) Write note on Bills Payable Book and Bills 
Receivable Book. 

  Esi¯À ÁÇ[PÀ ¦zuP® ©ØÖ® Esi¯À 
ö£ÓzuUP ¦zuP® £ØÔ SÔ¨¦øμ u¸P. 

Or 

 (b) Enter the following transactions in the books 
concerned and post them into ledger : 

2008 June  Rs. 

2 Purchased goods from Chitra 5,000

5 Purchased goods from Kala 4,000

7 Purchased goods from Vijaya 2,500

9 Returned goods to Chitra 500

10 Returned goods to Kala 450

30 Returned goods to Vijaya 1,000

  \®£¢u¨£mh ¦zuP[PÎÀ ¤ßÁ¸® 
£›ÁºzuøÚPøÍ EÒÎmk AÁØøÓ ÷£÷μmiÀ 
CkøP°hÄ®. 

2008 áüß  ¹. 

2 ]zμõÂhª¸¢x ö£õ¸mPÒ Áõ[Q¯x 5,000

5 P»õÂhª¸¢x ö£õ¸mPÒ Áõ[Q¯x 4,000

7 Âá¯õÂhª¸¢x ö£õ¸mPÒ Áõ[Q¯x 2,500

9 ]zμõÄUS ö£õ¸mPÒ v¸¨¤¯x 500

10 P»õÄUS ö£õ¸mPÒ v¸¨¤¯x 450

30 Âá¯õÄUS ö£õ¸mPÒ v¸¨¤¯x 1,000

14. (a) What are the advantages of bank reconciliation 
statement? 

  Á[Q \©μ\ AÔUøP°ß |ßø©PÒ ¯õøÁ? 

Or 
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 (b) From the following particulars prepare a bank 
reconciliation statement as on 31st March, 2002 : 

  Rs. 

(i) Balance as per pass book 10,500 

(ii) Cheques deposited but not cleared up to 31st March 750 

(iii) Cheques issued but not presented for payment 1,200 

(iv) Sundry charges debited by the bank 35 

(v) Bank received deposits directly from customers 930 

  31 ©õºa, 2002 AßøÓ¯ Á[Q \©μ\ AÔUøP°øÚ 
RÌPsh Â£μ[PÎ¼¸¢x u¯õ›UP. 

  ¹. 

(i) Á[Q ¦zuPzvß £i C¸¨¦ 10,500 

(ii) Põ÷\õø»PÒ ö\¾zv¯x ©õºa 31 Áøμ 
AÝ©vUP¨£hÂÀø» 

750 

(iii) Põ÷\õø»PÒ öPõkUP¨£mhx BÚõÀ ö\¾zxÁuØS 
ÁÇ[P¨£hÂÀø» 

1,200 

(iv) Á[Q¯õÀ £ØÖ øÁUP¨£mh £À÷ÁÖ Pmhn[PÒ 35 

(v) Á[Q ÁõiUøP¯õÍºPÎhª¸¢x ÷|μi¯õP ö£ØÓ øÁ¨¦ 930 

15.  (a) From the following balances as on 31st March, 2017, 
prepare Profit and Loss account: 

Particulars Rs. Particulars Rs. 

Gross Profit 50,000 Rent received 2,000 

Salaries 18,000 Discount received 3,000 

Office Rent paid 12,000 Carriage outwards 2,500 

Advertisement 8,000 Fire Insurance Premium 6,500 

  Adjustments : 

  (i) Rent accrued but not yet received – Rs.500 

  (ii) Fire insurance premium prepaid to the extent 
of Rs.1,500 

  (iii) Provide Manager’s Commission at 10% on 
profits before charging such commission. 
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  31 ©õºa, 2017 AßøÓ¯ RÌPsh {¾øÁPÎ¼¸¢x 
C»õ£ |mhU PnUQøÚ u¯õ›UP. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

ö©õzu »õ£® 50,000 ö£Ó¨£mh ÁõhøP 2,000

Fv¯® 18,000 ö£Ó¨£mh uÒÐ£i 3,000

A¾Á»P ÁõhøP ö\¾zv¯x 12,000 öÁÎ÷|õUQ Ási 2,500

ÂÍ®£μ® 8,000 w Põ¨¥mk •øÚ©® 6,500

  \›PmkuÀPÒ : 

  (i) ÁõhøP vμmh¨£mhx BÚõÀ 

ö£Ó¨£hÂÀø» ¹. 500 

  (ii) •ßö\¾zu¨£mh w Põ¨¥k •øÚ©®  

¹. 1,500 

  (iii) C¢u PªåøÚ _©zxÁuØS •ß »õ£zvÀ 10% 

÷©»õÍº PªåÚõP ÁÇ[PÄ®. 

Or 

 (b) What are the differences between receipts and 

payments account and income and expenditure 

account? 

  ÁμÄ ©ØÖ® ö\¾zuÀ PnUQØS® Á¸©õÚ® ©ØÖ® 
ö\»Ä PnUQØS® Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions and limitations of accounting. 

 PnUQ¯¼ß £oPÒ ©ØÖ® SøÓPøÍ ÂÍUSP. 
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17. Journalise the following transactions, post them into 
Ledger and prepare a Trial Balance: 

2017  
March 

 Rs. 

1 Shyam Sunder commenced business with cash 80,000 

2 Purchased goods for cash 36,000 

3 Machinery purchased for cash 4,000 

4 Purchased goods from :  

  Raghu 22,000 

  Dilip 30,000 

6 Returned goods to Raghu 4,000 

8 Paid to Raghu, in full settlement of his account 17,500 

10 Sold goods to Mahesh Chand @ 5% trade discount 32,000 

13 Received cash from Mahesh Chand  19,800 

 Discount allowed 200 

15 Paid cash to Dilip 14,850 

 Discount received 150 

20 Sold goods for cash 25,000 

24 Sold goods for cash to Sundar 18,000 

25 Paid for Rent 1,500 

26 Received for Commission 2,000 

28 Withdrew by Proprietor for his personal use 5,000 

29 Purchased a fan for Proprietor’s house 1,200 

 RÌPsh £›ÁºzuøÚPøÍ SÔ¨÷£miÀ £vÄ ö\´x, 
÷£÷μmiÀ CkøP°mk, ÷\õuøÚ C¸¨¦{ø»°øÚ 
u¯õ›UPÄ®. 

2017  
©õºa 

 ¹. 

1 ]¯õ® _¢uº £nzxhß Â¯õ£õμzøu xÁUQÚõº 80,000 

2 öμõUPzvØS ö£õ¸mPÒ Áõ[Q¯x 36,000 

3 öμõUPzvØS C¯¢vμ® Áõ[Q¯x 4,000 

4 ö£õ¸mPÒ Áõ[Q¯x :  

  μS 22,000 

  v½¨ 30,000 
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2017  
©õºa 

 ¹. 

6 μSÂØS v¸¨¤¯ ö£õ¸mPÒ 4,000 

8 μSÂß PnUS •ÊÁx©õÚ ö\¾zu¨£mhx 17,500 

10 ©÷Pè \¢vØS ö£õ¸mPÒ ÂØÓx @5% ÁºzuP 
uÒÐ£i²hß 

32,000 

13 ©÷Pè \¢vhª¸¢x ö£ØÓ öμõUP® uÒÐ£i ÁÇ[Q¯x 19,800 

 uÒÐ£i ÁÇ[Q¯x 200 

15 v½¤ØS £n® ö\¾zv¯x 14,850 

 uÒÐ£i ö£Ó¨£mhx 150 

20 öμõUPzvØS ö£õ¸mPÒ ÂØÓx 25,000 

24 _¢u¸US öμõUPzvØS ö£õ¸mPÒ ÂØÓx 18,000 

25 ÁõhøP ö\¾zu¨£mhx 1,500 

26 PªåÚõP ö£Ó¨£mhu 2,000 

28 E›ø©¯õÍº uÚx £¯ß£õmiØPõP Gkzux 5,000 

29 E›ø©¯õÍ›ß ÃmiØS ªßÂ]Ô Áõ[Q¯x 1,200 

18. Prepare a three column cash book from the following 
transactions and bring down the balance: 
2005 Oct  Rs. 

1 Cash in hand 2,500 

1 Cash at bank 10,000 

2 Paid into bank 1,000 

5 Bought furniture and issued cheque 2,000 

8 Purchased goods for cash 500 

12 Received from Mahendran 980 

 Discount allowed 20 

14 Cash sales 4,000 

16 Paid to Arun by cheque 1,450 

 Discount allowed 50 

19 Paid into bank 400 

23 Withdraw from bank for private expenses 600 

24 Received cheque from Patel 1,430 

 Allowed him discount 20 

26 Deposited Patel’s cheque into bank  

28 Withdraw cash from bank for office use 2,000 

30 Paid rent by cheque 800 
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 RÌPsh £›ÁºzuøÚPÎ¼¸¢x ‰ßÖ öμõUP 
¦zuPzvøÚ \©{ø» C¸¨¦PÐhß u¯õ›UP. 

2005 
AU÷hõ£º 

 ¹. 

1 øP°¸¨¦ öμõUP® 2,500 

1 Á[Q°À EÒÍ öμõUP® 10,000 

2 Á[Q°À ö\¾zv¯x 1,000 

5 Põ÷\õø» öPõkzx AøÓP»ß Áõ[Q¯x 2,000 

8 öμõUPzvØS ö£õ¸mPÒ Áõ[Q¯x 500 

12 ©÷P¢vμÛhª¸¢x ö£ØÓx 980 

 uÒÐ£i ö£ØÓx 20 

14 öμõUP ÂØ£øÚ 4,000 

16 Põ÷\õø» ‰»® A¸qUS ÁÇ[Q¯x 1,450 

 uÒÐ£i ÁÇ[Q¯x 50 

19 Á[Q°À ö\¾zv¯x 400 

23 uÛ¨£mh ö\»ÂØS Á[Q°¼¸¢x Gkzux 600 

24 £÷h¼hª¸¢x Põ÷\õø» ö£ØÓx 1,430 

 AÁ¸US ÁÇ[Q¯ uÒÐ£i 20 

26 £÷h¼ß Põ÷\õø»ø¯ Á[Q°À ö\¾zv¯x  

28 A¾Á»P ö\»ÂØS Á[Q°¼¸¢u Gkzu öμõUP® 2,000 

30 ÁõhøPUS Põ÷\õø» ÁÇ[Q¯x 800 

19. Distinguish between cash book and pass book. What are 
the transactions that are recorded only in Cash Book and 
transactions recorded only in Pass Book? 

 öμõUP ¦zuPzøu²® Á[Q ¦zuPzøu²® ÷ÁÖ£kzxP. 
öμõUP ¦zuPzvÀ ©mk® £vÄ ö\´¯¨£k® 
£›ÁºzuøÚPÒ ©ØÖ® Á[Q ¦zuPzvÀ ©mk÷© £vÄ 
ö\´¯¨£h ÷Ási¯ £›ÁºzuøÚPÒ ¯õx? 
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20. The following balances were extracted from the books of 
Thomas as on 31st March, 2018: 

Particulars Rs. Particulars Rs. 

Purchases 75,000 Capital 60,000 

Returns inward 2,000 Creditors 30,000 

Opening Stock 10,000 Sales 1,20,000 

Freight inwards 4,000 Returns outward 1,000 

Wages 2,000 Investments 10,000 

Bank charges 1,000 Land 30,000 

Machinery 30,000 Building 25,000 

Cash at bank 18,000 Cash in hand 4,000 

 Additional information : 
 (a) Closing Stock — Rs. 9,000. 
 (b) Provide depreciation @ 10% on Machinery 
 (c) Interest accrued on investment Rs. 2,000 

  Prepare Trading account, Profit & Loss account and 
Balance Sheet. 

 RÌPsh C¸¨¦PÒ ©õºa 31, 2018 AßÖ uõ©ì 
AÁºPÎß ¦zuPzv¼¸¢x ¤›zöukUP¨£mhøÁ : 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

öPõÒ•uÀ 75,000 ‰»uÚ® 60,000 
EÒ v¸¨£® 2,000 PhÚõÎPÒ 30,000 
öuõhUPa \μUQ¸¨¦ 10,000 ÂØ£øÚ 1,20,000 
\μUS Pmhn® EÒ÷|õUQ 4,000 öÁÎzv¸¨£® 1,000 
T¼ 2,000 •u½kPÒ 10,000 
Á[QU Pmhn® 1,000 {»® 30,000 
C¯¢vμ[PÒ 30,000 Pmih® 25,000 
Á[Q°¾ÒÍ öμõUP® 18,000 øP°¸¨¦ öμõUP® 4,000 

 TkuÀ uPÁÀPÒ : 
 (A) CÖv \μUQ¸¨¦ ¹. 9,000 

 (B) C¯¢vμzvß «x ÷u´©õÚ® @10% ÂvUPÄ®. 
 (C) •u½miß «x vμmh¨£mh Ámi ¹. 2,000  

———————— 
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B.Com. (CS) DEGREE EXAMINATION,  
NOVEMBER 2024. 

Third Semester 

Commerce with  Corporate Secretaryship 

COMPANY LAW AND SECRETARIAL PRACTICE – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Company. 

 {ÖÁÚzøu Áøμ¯Ö. 

2. What do you meant by E-filling? 

 ªß {μ¨¦uÀ GßÖ GøuU SÔ¨¤kP. 

3. List out the steps of Registration of a company. 

 J¸ {ÖÁÚzvß £vÄ £iPøÍ £mi¯¼k. 

4. What is Abridged prospectus? 

 _¸UP¨£mh uPÁÀ AÔUøP GßÓõÀ GßÚ? 

5. What is Preference share capital? 

 •ßÝ›ø© £[S ‰»uÚ® GßÓõÀ GßÚ? 

6. Write a note on Allotment of shares. 

 £[SPÎß JxURk SÔzx J¸ SÔ¨ø£ GÊxP. 

Sub. Code 
22BCS3C1 
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7. Define Secretary. 

 ö\¯»õÍøμ Áøμ¯Ö. 

8. Mention the duties of company secretary. 

 {ÖÁÚ ö\¯»õÍ›ß Phø©PøÍU SÔ¨¤k. 

9. What is borrowing powers of a company? 

 J¸ {ÖÁÚzvß Phß Áõ[S® AvPõμ® GßÓõÀ GßÚ? 

10. What do you meant by acceptance of deposits? 

 øÁ¨¦zöuõøPø¯ HØÖUöPõÒÁx GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the characteristics of company? 

  {ÖÁÚzvß £s¦PÒ GßÚ? 

Or 

 (b) Discuss the Articles of Association. 

  \[Pzvß PmkøμPøÍ¨ £ØÔ ÂÁõv. 

12. (a) What are the steps involved in a registration of a 
company formation? 

  J¸ {ÖÁÚzøu E¸ÁõUSÁøu¨ £vÄ ö\´ÁvÀ 
GßÚ £i{ø»PÒ EÒÍÚ. 

Or 

 (b) Write a short note on  

  (i) Shelf prospectus 

  (ii) Red herring prospectus. 

  (i) öåÀL¨ uPÁÀ AÔUøP  

  (ii) öμm öíº›[ uPÁÀ AÔUøP J¸ ]Ö SÔ¨ø£ 
GÊuÄ®. 
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13. (a) What are the types of preference share capital? 

  •ßÝ›ø© £[S ‰»uÚzvß ÁøPPÒ ¯õøÁ? 

Or 

 (b) What are the liabilities of a company secretary? 

  {ÖÁÚ ö\¯»õÍ›ß ö£õÖ¨¦PÒ GßÚ? 

14. (a) What are the different types of secretaries? 

  £À÷ÁÖ ÁøP¯õÚ ö\¯»õÍºPÒ GßÚ? 

Or 

 (b) List out the qualifications of a company secretary. 

  J¸ {ÖÁÚ ö\¯»õÍ›ß uSvPøÍ £mi¯¼kP. 

15. (a) What are the types of Debentures? 

  Phß £zvμ[PÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Write a short note on borrowing powers of a 
company. 

  J¸ {ÖÁÚzvß Phß Áõ[S® AvPõμ[PøÍ¨ £ØÔ 
J¸ ]Ö SÔ¨ø£ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the types of company. 

 {ÖÁÚzvß ÁøPPøÍ ÂÍUSP. 

17. Briefly explain the contents of prospectus. 

 uPÁÀ AÔUøP EÒÍhUP[PøÍ _¸UP©õP ÂÍUSP. 

18. Explain the various kinds of Share capital. 

 £À÷ÁÖ ÁøP¯õÚ £[S ‰»uÚzøu ÂÍUSP. 
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19. Explain the powers and duties of company secretary. 

 {ÖÁÚ ö\¯»õÍ›ß AvPõμ[PÒ ©ØÖ® Phø©PøÍ 
ÂÍUSP. 

20. Explain the various methods of borrowing in company. 

 {ÖÁÚzvÀ Phß Áõ[S® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

 

 

 

–––––––––– 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2024 
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Commerce with Corporate Secretaryship 

PARTNERSHIP ACCOUNTING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define partnership. 

 Tmhõsø©ø¯ Áøμ¯ÖUPÄ®. 

2. What do you mean by Profit and Loss Appropriation 
Account? 

 »õ£® ©ØÖ® |mh JxURmk PnUS GßÓõÀ GßÚ? 

3. What is sacrificing ratio? 

 v¯õP ÂQu® GßÓõÀ GßÚ? 

4. What do you mean by admission cum retirement? 

 K´Ä ©ØÖ® ÷\ºUøP GßÓõÀ GßÚ? 

5. What is purchase consideration? 

 öPõÒ•uÀ ©Ö£¯ß GßÓõÀ GßÚ? 

6. What do you mean by amalgamation of firm? 

 {ÖÁÚzvß J¸[Qøn¨¦ GßÓõÀ GßÚ? 

Sub. Code 
22BCS3C2 
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7. Distinguish between revaluation and relaisation account. 

 ©Ö©v¨¥k ©ØÖ® ©Ö©v¨¥mk ÂkÂ¨¦ PnUS. 
÷ÁÖ£kzx[PÒ. 

8. What do you mean by insolvency of partner? 

 TmhõÎ ö|õi¨¦ {ø» GßÓõÀ GßÚ? 

9. What is piecemeal distribution? 

 £Sv £[Rk GßÓõÀ GßÚ? 

10. What is maximum loss method? 

 AvP£m\ CÇ¨¦ •øÓ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X and Y are partners sharing profits in the ratio of 
2:1 and as from 1st January 2023, they admit Z who 
is to have 1/10th share of profits with a guaranteed 
minimum of Rs.32,000. X and Y continue to share 
profits as before. The profit of the firm in respect of 
the year in question is Rs.2,00,000. Prepare P & L 
appropriation account. 

  X ©ØÖ® Y BQ¯øÁ 2:1 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒÐ® TmhõÍºPÍõS®, ÷©¾® 1 
áÚÁ› 2023 •uÀ, SøÓ¢u£m\® ¹.32,000 US 
EzuμÁõu® AÎUP¨£mh »õ£zvÀ 1/10 £[S 
C¸UP ÷Ásk® GßÖ Z J¨¦UöPõÒQÓõºPÒ. X 
©ØÖ® Y •ß¦ ÷£õ»÷Á »õ£zøu¨ £Qº¢x 
öPõÒQßÓÚ. SÔ¨¤mh Bsøh¨ ö£õÖzu©miÀ 
{ÖÁÚzvß »õ£® ¹.2,00,000. »õ£® ©ØÖ® |mh 
JxURmk PnUøPz u¯õ›UPÄ®. 

Or 
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 (b) A, B, C and D are partners sharing profits and 
losses in the ratio of 4:3:3:2 and their respective 
capitals on 31st December 1988 were Rs.3,000; 
Rs.4,500; Rs.6,000 and Rs. 4,500. after closing and 
finalizing the accounts its was found that interest 
on capital @ 6% p.a was omitted. Instead of altering 
the singed accounts it was decided to pass single 
adjusting entry on 1st January 1989 crediting or 
debiting the respective partners’ accounts. Show the 
journal entry. 

  A, B, C ©ØÖ® D BQ¯øÁ 4:3:3:2 GßÓ ÂQuzvÀ 
»õ£® ©ØÖ® |èh[PøÍ¨ £Qº¢x öPõÒÐ® 
£[SuõμºPÒ ©ØÖ® 31 i\®£º 1988 AßÖ A¢u¢u 
‰»uÚ[PÒ ¹.3,000 ¹.4,500 ¹.6,000 ©ØÖ® 
¹.4,500. PnUSPøÍ •izx CÖv ö\´u ¤ÓS, 

‰»uÚzvß «uõÚ Ámi @ 6% p.a. uÂºUP¨£mhx. 
£õh¨£mh PnUSPøÍ ©õØÖÁuØS¨ £v»õP, 1 
áÚÁ› 1989 AßÖ A¢u¢u TmhõÍºPÎß 
PnUSPøÍ ÁμÄ AÀ»x £ØÖ ö\´²® JØøÓ 
\›ö\´uÀ EÒÏmøh AÝ¨£ •iÄ ö\´¯¨£mhx 
SÔ¨÷£kPøÍ u¯õ›US®. 

12. (a) V, S and D were partners sharing profits and losses 
in the ratio of 3:2:2. The following revaluation were 
made on S’s admission: 

  (i) To increase the value of premises by 
Rs.21,000;  

  (ii) To reduce the value of investments by  
Rs.1,400, B/R Rs.700 and Plant by Rs.6,300;  

  (iii) Outstanding liability to be provided Rs.2,800;  

  (iv) To provide reserve for discount on creditors 
Rs.4,200; Prepare Memorandum Revaluation 
A/c. 
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  V, S ©ØÖ® D BQ¯øÁ 3:2:2 GßÓ ÂQuzvÀ C»õ£ 
|mh[PøÍ¨ £Qº¢x öPõÒÐ® £[SuõμºPÍõP 

C¸¢uÚ. S Cß ÷\ºUøP°À ¤ßÁ¸® 
©Ö©v¨¥kPÒ ö\´¯¨£mhÚ: 

  (i) ÁÍõPzvß ©v¨ø£ ¹.21,000 AvP›UP 

  (ii) •u½kPÎß ©v¨ø£ ¹.1,400, B/R  ¹.700 
©ØÖ® Bø» ¹.6,300 SøÓUP 

  (iii) {¾øÁ°À EÒÍ ö£õÖ¨¦ ¹.2,800 
ÁÇ[P¨£h ÷Ásk® 

  (iv) PhÚõÎPÐUS ¹.4,200 uÒÐ£iUPõÚ C¸¨¦ 

ÁÇ[P;  SÔ¨£õøn ©Ö©v¨¥k A/c u¯õº 
ö\´¯Ä®.  

Or 

 (b) X, Y and Z are partners sharing profits in the ratio 
of 2:2:1. Y dies on 31st march 2016. Accounts are 
closed on 31st Dec. Sales for the year 2015 amounted 
to Rs. 6,00,000. Sales of Rs. 2,00,000 amounted 
between the period of 1st Jan 2016 and 31st March 
2016. The profit for the year 2015 amounted to  
Rs. 60,000. Calculate the deceased partner’s share 
in the profit of the firm. 

  X, Y ©ØÖ® Z BQ¯øÁ 2:2:1 GßÓ ÂQuzvÀ 

»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ. Y 
CÓ¨£x ©õºa 31, 2016. PnUSPÒ i\®£º 31 AßÖ 
‰h¨£mhÚ. 2015 B® BskUPõÚ ÂØ£øÚ 
¹.6,00,000. ÂØ£øÚ ¹.2,00,000 áÚÁ› 1, 2016 
•uÀ ©õºa 31, 2016 Áøμ°»õÚ Põ»UPmhzvÀ 
C¸¢ux. 2015 B® BskUPõÚ »õ£® ¹.60,000. 
{ÖÁÚzvß »õ£zvÀ CÓ¢u £[Suõμ›ß £[øPU 
PnUQk[PÒ. 
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13. (a) Sarasu, Mangai and Mekala share profits in the 
ratio of 4:3:2. They have decided to sell their firm to 
a limited company on June 30, 2022. Their balance 
sheet on that date was as under : 

 Rs.  Rs. 

Creditors 12,000 Land and building 18,000

Capital : Machinery 12,000

Sarasu 20,000 Debtors 15,000

Mangai 15,000 Stock 13,000

Mekala 13,000 Cash 2,000

 60,000  60,000

  Purchase consideration agreed upon was  
Rs. 50,000. Of this the company has Paid  
Rs. 32,000 in its own shares and the balance in 
cash. Dissolution expenses of the firm Rs. 600 was 
paid by the company. Give the journal entries. 

  \μ_, ©[øP ©ØÖ® ÷©P»õ 4:3:2 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒQßÓÚ. áüß 30, 2022 
AßÖ u[PÒ {ÖÁÚzøu J¸ ¼ªöhm 
{ÖÁÚzvØS ÂØP •iÄ ö\´xÒÍÚº. A¢uz ÷uv 
AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
PhÜ¢÷uõº 12,000 {»® ©ØÖ® Pmih® 18,000
‰»uÚ® : C¯¢vμ[PÒ 12,000
\μ_ 20,000 PhÚõÎPÒ 15,000

©[øP 15,000 \μUQ¸¨¦ 13,000
÷©P»õ 13,000 öμõUP® 2,000

 60,000  60,000

  öPõÒ•uÀ £›^»øÚ  ¹. 50,000. CvÀ  {ÖÁÚ® 
¹. 32,000 uÚx ö\õ¢u £[SPÍõPÄ®, 
C¸¨¦{ø»ø¯ öμõUP©õPÄ® ö\¾zv²ÒÍx. 
{ÖÁÚzvß Pø»¨¦ ö\»Ä ¹. 600 {ÖÁÚzuõÀ 
ö\¾zu¨£mhx. SÔ¨÷£kPøÍ öPõk[PÒ.  

Or 
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 (b) What are the steps involved in closing the books of 
selling firm in case of amalgamation of firms? 

  {ÖÁÚ[PÒ JßÔøn¢uõÀ, ÂØ£øÚ {ÖÁÚ 
¦zuP[PøÍ ‰kÁuØS GßÚ |hÁiUøPPÒ 
GkUP¨£kQßÓÚ? 

14. (a) The following is the balance sheet of X, Y and Z on 
31.3.2022. 

Liabilities Rs. Assets Rs. 
Capital a/c  Furniture 40,000

X 50,000 Plant and Machinery 20,000
Y 30,000 Stock 40,000

General reserve 30,000 Sundry debtors 20,000
Sundry creditors 40,000 Cash at bank 12,000
  Z’s capital 18,000
 1,50,000  1,50,000

  Z is insolvent but his estate pays Rs.4,000. It is 
decided to dissolve the partnership.  

  The assets were realized as follows: Sundry debtors-
Rs.15,000; Furniture-Rs.28,000; Stock Rs.32,000;  
Plant and Machinery Rs.14,000; The dissolution 
expenses amounted to Rs. 5,000. Give accounts to 
close the books of the firm if the capitals are 
fluctuating. 

  31.3.2022 AßÖ X, Y ©ØÖ® Z Cß C¸¨¦{ø» 
¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
•uÀ a/c  ©μa\õ©ßPÒ 40,000

X 50,000Bø» ©ØÖ® C¯¢vμ[PÒ 20,000
Y 30,000\μUQ¸¨¦ 40,000

ö£õxU Põ¨¤¸¨¦ 30,000PhÚõÎPÒ 20,000
PhÜ¢÷uõº 40,000öμõUP® 12,000
 Z •uÀ 18,000

 1,50,000 1,50,000



S–5139 

  

  7

  Z ö|õi¨¦ {ø» BÚõÀ AÁμx Gì÷hm ¹.4,000 
ö\¾zxQÓx. Tmhoø¯ Pø»UP •iÄ 
ö\´¯¨£mkÒÍx. ö\õzxUPÒ ¤ßÁ¸©õÖ 
Enμ¨£mhÚ £À÷ÁÖ PhÚõÎPÒ&¹.15,000; 
©μa\õ©õßPÒ&¹.28,000; £[S ¹.32,000; Bø» 
©ØÖ® C¯¢vμ[PÒ ¹.14,000; Pø»¨¦ ö\»ÄPÒ 
¹.5,000. ‰»uÚ[PÒ HØÓ CÓUP©õP C¸¢uõÀ, 
{ÖÁÚzvß ¦zuP[PøÍ ‰kÁuØS PnUSPøÍ 
öPõk[PÒ. 

Or 

 (b) D, E, F and G are partners sharing 4:3:2:1. Their 
position statement was as follows: 

Liabilities Rs. Assets Rs. 

Capital a/c  Capital a/c:  

D 90,000 F 10,500 

E 60,000 G 3,000 

Bank loan 60,000 Sundry debtors 1,20,000

Sundry creditors 1,20,000 Cash at bank 4,500 

  Machinery 1,32,000

  Stock 60,000 

 3,30,000  3,30,000

  The firm is dissolved. All assets realized 
Rs.2,46,000. The sundry creditors and bank loan 
were paid Rs.1,77,000 in full satisfaction. The 
expenses of dissolution are Rs.1,800. G became 
insolvent and F paid only Rs.9,000. Prepare ledger 
accounts to close the books of the firm 
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  D, E, F ©ØÖ® G BQ¯øÁ 4:3:2:1 I¨ £Q¸® 

TmhõÎPÒ, AÁºPÎß {ø»¨£õk ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  •uÀ :  

D 90,000 F 10,500 

E 60,000 G 3,000 

Á[Q Phß 60,000 PhÚõÎPÒ 1,20,000

PhÜ¢÷uõº 1,20,000 öμõUP® 4,500 

  C¯¢vμ® 1,32,000

  \μUQ¸¨¦ 60,000 

 3,30,000  3,30,000

  {ÖÁÚ® Pø»UP¨£mhx. AøÚzx ö\õzxPÐ® 

¹.2,46,000. £À÷ÁÖ Phß ©ØÖ® Á[QU Phß •Ê 

v¸¨v²hß ¹.1,77,000 ö\¾zu¨£mhx. 

Pø»¨¦UPõÚ ö\»ÄPÒ ¹.1,800. G ö|õi¨¦ {ø» 

©ØÖ® F ¹.9,000 ©mk÷© ö\¾zv¯x. {ÓÁÚzvß 

¦zuP[PøÍ ‰kÁuØS ÷£÷μk PnUSPøÍz 

u¯õ›UPÄ®. 

15.  (a) Explain the different methods of making piecemeal 

distribution. 

  £Sv £[Rk ö\´²® £À÷ÁÖ •øÓPøÍ 

ÂÍUS[PÒ. 

Or 
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 (b) From the following distribute cash under 
proportionate capital method : 

  Capital of Partners A-Rs.20,000; B-Rs.10,000; Profit 
sharing ratio-3:2; I Installment (cash)-Rs.5,000; II 
installment (cash)-Rs.2,000; III installment (cash)- 
Rs.1,000. 

  ÂQuõa\õμ ‰»uÚ •øÓ°ß RÌ ¤ßÁ¸® 
£nzv¼¸¢x Â{÷¯õQUPÄ®: 

  £[SuõμºPÎß ‰»uÚ® A&¹.20,000; B&¹.10,000; 
C»õ£¨ £QºÄ ÂQu® 3:2:1 uÁøn 
(£n®)&¹.5,000; II uÁøn (£n®)&¹.2,000;  
III uÁøn (öμõUP®)&¹.1,000. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 31st march 2015, the capital accounts of three 
partners, namely X, Y and Z stood at Rs.8,00,000, 
Rs.6,00,000 and Rs.4,00,000 respectively after making 
adjustments for profit for the year and drawings during 
the year. Subsequently, it was discovered that interest on 
capital, and on drawings had been omitted to be charged 
both being @ 5% per annum. The drawings during the 
year were X: Rs.2,00,000; Y: Rs.1,30,000; Z: Rs.90,000 
and interest on drawings chargeable to partners were X: 
Rs.5,000; Y: Rs.3,600; Z: Rs.2,000; The profit for the year 
amounted to Rs.12,00,000 to be distributed among  
X, Y and Z in the ratio of 3:2:1 respectively. You are 
required to prepare 

 (a) Statement showing capital as on 1st April, 2014 

 (b) Profit and loss appropriation account 

 Partners’ capital accounts showing the amended closing 
balances as on 31st March 2015. 
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 ©õºa 31, 2015 AßÖ, GUì, J´ ©ØÖ® C\m BQ¯ ‰ßÖ 
£[SuõμºPÎß ‰»uÚU PnUSPÒ •øÓ÷¯ ¹.8,00,000, 
¹.6,00,000 ©ØÖ® ¹.4,00,000 BP C¸¢ux. Bsk. 
Aøuz öuõhº¢x, ‰»uÚ® ©ØÖ® Áøμ£h[PÒ «uõÚ 
Ámi Cμsk® BskUS @ 5% Á`¼UP¨£kÁøuz 
uÂºUP¨£mhx. Á¸hzvÀ Áøμ¢u Áøμ£h[PÒ X 
¹.2,00,000; J´: ¹.1,30,000; Z; ¹.90,000 ©ØÖ® 
TmhõÍºPÎh® Á`¼UP¨£k® Áøμ£h[PÐUPõÚ Ámi 
X ¹.5,000; J´: ¹.3,600;  
Z: ¹.2,000; BskUPõÚ »õ£® ¹.12,00,000 BÚx X, Y 
©ØÖ® Z US •øÓ÷¯ 3:2:1 GßÓ ÂQuzvÀ 
Â{÷¯õQUP¨£mhx. }[PÒ u¯õº ö\´¯ ÷Ásk®. 

 (A) H¨μÀ 1, 2014 AßÖ ‰»uÚzøuU Põmk® AÔUøP 

 (B) »õ£® ©ØÖ® CÇ¨¦ JxURk PnUS 

 31 ©õºa 2015 CÀ v¸zu¨£mh CÖv {¾øÁPøÍU 
Põmk® TmhõÍºPÎß ‰»uÚU PnUSPÒ. 

17. X and Y are partners sharing profits in the ratio of 3:1. 
Their Balance sheet stood as under on 31-3-2018: 

Liabilities Rs. Rs. Assets Rs. Rs. 

Salary due  5,000 Stock 10,000

Creditors  40,000 Prepaid 
Insurance 

1,000

Capital   Debtors 8,000 7,500

   Less: prepaid 500

X 30,000  Cash 18,500

Y 20,000 50,000 Machinery 22,000

   Buildings 30,000

   Furniture 6,000

  95,000  95,000
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 Z is admitted as a new partner introducing a capital of 
Rs.20,000, for his 1/4th share in future profits. 

 Following revaluation are made: 

 (a) Stock be depreciated by 5%. 

 (b) Furniture be depreciated by 10%. 

 (c) Buildings be revalued at Rs.45,000. 

 (d) The provision for doubtful debts should be increased 
to Rs.1,000. 

  Prepare Revaluation A/c, Capital A/c and Balance 
sheet after admission. 

 X ©ØÖ® Y BQ¯øÁ 3:1 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒÐ® £[SuõμºPÒ. AÁºPÎß C¸¨¦{ø» 
31.3.2018 AßÖ RÌ EÒÍx 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxUPÒ ¹. ¹. 

\®£Í® 
{¾øÁ 

 5,000\μUQ¸¨¦ 10,000

PhÜ¢÷uõº  40,000•ßTmi ö\¾zv¯ 
Põ¨¥k 

1,000

•uÀ  50,000PhÚõÎPÒ 8,000 7,500

  (–) •ßTmi ö\¾zv¯ 500

X 30,000 öμõUP® 18,500

Y 20,000 C¯¢vμ® 22,000

  Pmih® 30,000

  ©μa\õ©õßPÒ 6,000

  95,000 95,000

 GvºPõ» »õ£zvÀ uÚx 1/4 £[SUS ¹.20,000 
‰»uÚzøu AÔ•P¨£kzx® ¦v¯ TmhõÍμõP Z 
AÝ©vUP¨£mhõº. ¤ßÁ¸® ©Ö©v¨¥k 
ö\´¯¨£kQÓx. 
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 (A) £[S 5% ÷u´©õÚ® 

 (B) ©μa\õ©õßPÒ 10% ÷u´©õÚ®.  

 (C) Pmih[PÒ ¹. 45,000US ©Ö©v¨¥k ö\´¯¨£k®. 

 (D) Áõμõ I¯UPhß JxURk ¹. 1,000 BP E¯ºzu¨£h 
÷Ásk®.  

  ÷\ºUøPUS¨ ¤ÓS ©Ö©v¨¥k A/c, •uÀ A/c ©ØÖ® 
C¸¨¦z uõÒ BQ¯ÁØøÓz u¯õ›UPÄ®. 

18. The following are the balance sheet of two firm M/s R&S 
and M/s T&U as on 31st March 2023. 

Liabilities R & S T & U  Assets R & S T & U 

Bills payable 30,000 – Cash 2,00,000 2,00,000

Trade creditors 15,000 1,25,000 Bank 50,000 75,000

Bank O/D – 51,500 Debtors 1,00,000 1,50,000

Capitals   Stock 1,50,000 1,75,000

R 2,50,000  Buildings 25,000 1,00,000

S 2,50,000  Furniture 10,000 1,500

T  2,62,500 Investments 10,000 –

U  2,62,500  

    

 5,45,000 7,01,500  5,45,000 7,01,500

 The partners of both the firms have decided to 
amalgamate their business into a new firm, named as 
Revathi and Co. The following terms were agreed upon: 

 (a) The buildings of both firms are to be taken over at 
20% above their book values. 

 (b) M/s. T&U should be credited with Rs.1,00,000 for 
some valuable copyrights possessed by them, but 
not shown in their books 

 (c) All other assets were taken over a book values 
except the investment of Ms. R&S 

 (d) Both firms to discharge their own liabilities. 

  Prepare necessary account and close the books of 
old firms. 
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 31 ©õºa 2023 Cß £i M/s. R & S ©ØÖ® M/s T & U 
BQ¯ Cμsk {ÖÁÚ[PÎß C¸¨¦{ø» ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ R & S T & U  ö\õzxUPÒ R & S T & U 

ö\¾zu ÷Ási¯ 
©õØÖ ^mk 

30,000 – öμõUP® 2,00,000 2,00,000

PhÜ¢÷uõº 15,000 1,25,000 Á[Q 50,000 75,000

Á[Q O/D – 51,500 PhÚõÎPÒ 1,00,000 1,50,000

•uÀ  \μUQ¸¨¦ 1,50,000 1,75,000

R 2,50,000  Pmih® 25,000 1,00,000

S 2,50,000  ©μa\õ©õßPÒ 10,000 1,500

T 2,62,500 •u½kPÒ 10,000 –

U 2,62,500  

   

 5,45,000 7,01,500  5,45,000 7,01,500

 C¸ {ÖÁÚ[PÎß TmhõÍºPÐ® u[PÒ ÁoPzøu 
÷μÁv ©ØÖ® ÷Põ GÚ ö£¯›h¨£mh ¦v¯ {ÖÁÚ©õP 
CønUP •iÄ ö\´xÒÍÚº. ¤ßÁ¸® Âv•øÓPÒ 
J¨¦U öPõÒÍ¨£mhÚ.  

 (A) C¸ {ÖÁÚ[PÎß Pmih[PÐ® AÁØÔß ¦zuP 
©v¨¦PøÍ Âh 20% AvP©õP 
GkzxUöPõÒÍ¨£k®. 

 (B) M/s. T & U AÁºPÒ øÁzv¸US® ]» ©v¨¦ªUP 
£v¨¦›ø©PÐUS ¹.1,00,000 ÁμÄ øÁUP¨£h 
÷Ásk®, BÚõÀ AÁºPÎß ¦zuP[PÎÀ 
Põmh¨£hÂÀø» 

 (C) v¸©v R & S Cß •u½k uÂμ ©ØÓ AøÚzx 
ö\õzxPÐ® J¸ ¦zuP ©v¨¦US GkzxU 
öPõÒÍ¨£mhÚ. 

 (D) C¸ {ÖÁÚ[PÐ® u[PÒ ö\õ¢u ö£õÖ¨¦PøÍ 
{øÓ÷ÁØÓ ÷Ásk®. 

  ÷uøÁ¯õÚ PnUøP u¯õº ö\´x £øÇ¯ 
{ÖÁÚ[PÎß ¦zuP[PøÍ ‰hÄ®. 
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19. X, Y and Z are equal partners, whose balance sheet on 
31.12.2022 is as follows: 

Liabilities Rs. Assets Rs. 

Capital a/c  Plant and Machinery 4,000

X 1,600 Land and Buildings 4,000

Z 1,000 Furniture 1,600

X’s loan 2,000 Debtors 2,000

Sundry creditors 10,000 Stock 1,600

  Cash in hand 100

  Y’s capital (O/D) 1,300

 14,600  14,600

 Due to lack of liquidity and weak financial position of the 
partners, the firm is dissolved. X and Z are not able to 
contribute anything and a sum of Rs. 400 received from 
Y. All of them are declared insolvent.   

 The assets are realized: Stock Rs. 1,000; plant and 
machinery Rs. 2,000; Furniture Rs. 400; Land and 
Buildings Rs. 1,600; and Debtors Rs. 1,100 only. 
Realisation expenses amounted to Rs. 100. You are 
required to close the books of firm. 

 X, Y ©ØÖ® Z BQ¯øÁ \© £[SuõμºPÒ, 31.12.2022 
AßÖ C¸¨¦{ø» ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ  Bø» ©ØÖ® 
C¯¢vμ[PÒ 

4,000

X 1,600 {»® ©ØÖ® 
Pmih[PÒ  

4,000

Z 1,000 ©μa\õ©õßPÒ 1,600

XPhß 2,000 PhÚõÎPÒ 2,000
£Ø£» PhÜ¢÷uõº 10,000 \μUQ¸¨¦ 1,600

  öμõUPU øP°¸¨¦ 100

  Y’s •uÀ (÷©Ø£ØÖ) 1,300

 14,600  14,600
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 £n¨¦ÇUP® ©ØÖ® £[SuõμºPÎß £»ÃÚ©õÚ {v {ø» 

Põμn©õP, {ÖÁÚ® Pø»UP¨£mhx. X ©ØÖ®  

Z BQ¯ÁØÓõÀ Gøu²® £[PÎUP •i¯õx ©ØÖ®  

Y °hª¸¢x ö£Ó¨£mh ¹. 400. AÁºPÒ AøÚÁ¸® 
vÁõ»õÚuõP AÔÂUP¨£mkÒÍÚº. ö\õzxUPÒ 

Enμ¨£kQßÓÚ: £[S ¹. 1,000; Bø» ©ØÖ® 
C¯¢vμ[PÒ ¹.2,000; ©μa\õ©õßPÒ ¹.400; {»® ©ØÖ® 
Pmih[PÒ ¹.1,600; ©ØÖ® PhÚõÎPÒ  

¹. 1,100 ©mk÷©. ©Ö©v¨¦ ö\»ÄPÒ ¹. 100. }[PÒ 
{ÖÁÚzvß ¦zu[PøÍ ‰h ÷Ásk®.  

20. Red, White and Blue are in partnership. The following is 
their balance sheet as at 31.12.2022 on which date, they 
dissolved partnership. They share profits in the ratio of 
5:3:2.  

Liabilities Rs. Assets Rs. 

Capital  Premises 40,000

Red 50,000 Plant 30,000

White 15,000 Stock 30,000

Blue 45,000 Debtors 60,000

Creditors 40,000   

Red’s loan 10,000   

 1,60,000  1,60,000

 It was agreed to repay the amounts due to the partners 
as and when the assets were realised, viz: 1.2.23 –  
Rs. 30,000; 1.4.23 – Rs. 73,000; 1.6.23 – Rs. 47,000. 
Prepare a statement showing how the distribution to the 
partners should be made. 
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 ]Á¨¦, öÁÒøÍ ©ØÖ® }»® BQ¯øÁ Tmhõsø©°À 
EÒÍÚ. 1.12.2022 AßÖ AÁºPÒ Tmhõsø©ø¯ 
Pø»zu ÷uv°ß£i AÁºPÎß C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ. AÁºPÒ 5:3:2 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒQÓõºPÒ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ ÁÍõP® 40,000

]Á¨¦ 50,000 ö£õÔ 30,000

öÁÒøÍ 15,000 \μUQ¸¨¦ PhÚõÎPÒ 30,000

}»® 45,000 PhÚõÎPÒ 60,000

PhÜ¢÷uõº 40,000   
]Á¨¦&Phß 10,000   
 1,60,000  1,60,000

 £[SuõμºPÐUSa ö\¾zu ÷Ási¯ öuõøPPøÍz 
v¸¨¤a ö\¾zu J¨¦UöPõÒÍ¨£mhx, ö\õzxUPÒ 
Enμ¨£k®÷£õx, AuõÁx 1.2.2022 – ¹. 30,000; 
1.4.2022 – ¹. 73,000; 1.6.2022 – ¹. 47,000. 
TmhõÍºPÐUPõÚ Â{÷¯õP® GÆÁõÖ ö\´¯¨£h 
÷Ásk® Gß£øuU Põmk® AÔUøPø¯z u¯õ›UPÄ®.  

——————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What are the key qualifications required for an individual 
to be appointed as a director in a company? 

 J¸Áº J¸ {ÖÁÚzvß C¯US|μõP {¯ªUP¨£kÁuØS 
÷uøÁ¯õÚ •UQ¯ uSvPÒ GßÚ? 

2. What is the significance of “Independent Directors” in 
ensuring corporate governance? 

 Põº¨£÷μm {ºÁõPzøu EÖv ö\´ÁvÀ “_u¢vμ 
C¯US|ºPÎß” •UQ¯zxÁ® GßÚ? 

3. Define the term “Board Meeting”. 

 “÷£õºk «mi[” – Áøμ¯ÖUPÄ®. 

4. Mention the process of inspecting and investigating 
company accounts. 

 {ÖÁÚzvß PnUSPøÍ B´Ä ö\´x Â\õμøn ö\´²® 
ö\¯À•øÓø¯ SÔ¨¤hÄ®. 

5. What are the types of winding up of companies? 
 {ÖÁÚ[PøÍ ‰kÁuØPõÚ ÁøPPÒ GßÚ? 

Sub. Code 
22BCS4C1 
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6. What are the rights of directors in a company? 
 J¸ {ÖÁÚzvÀ C¯US|ºPÎß E›ø©PÒ GßÚ? 

7. What are the necessary procedures for the resignation of 
a director? 

 J¸ C¯USÚº £uÂø¯ μõâÚõ©õ ö\´ÁuØS ÷uøÁ¯õÚ 
|øh•øÓPÒ GßÚ? 

8. Define the term “Whole Time Director”. 

 “•Ê÷|μ C¯US|º” – Áøμ¯ÖUPÄ®. 

9. What are the essentials of a valid Annual General 
Meeting (AGM) in a company? 

 J¸ {ÖÁÚzvÀ ö\À¾£i¯õS® Á¸hõ¢vμ 
ö£õxUTmhzvß (AGM) Azv¯õÁ]¯[PÒ GßÚ? 

10. What preventive measures can be taken to avoid 
oppression and mismanagement in a company? 

 J¸ {ÖÁÚzvÀ AhUS•øÓ ©ØÖ® uÁÓõÚ {ºÁõPzøu 
uÂºUP GßÚ uk¨¦ |hÁiUøPPÒ GkUP¨£h»õ®? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Discuss the duties and liabilities of directors 
towards the company and its shareholders. 

  {ÖÁÚ® ©ØÖ® Auß £[SuõμºPÐUS 
C¯US|ºPÎß Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Elaborate on the concept of “Secretarial Duties” and 
their importance in company operations. 

  “ö\Pμmh›¯À Phø©PÒ” ©ØÖ® {ÖÁÚ 
|hÁiUøPPÎÀ AÁØÔß •UQ¯zxÁzvß P¸zøu 
Â›ÁõPU TÖ[PÒ. 
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12. (a) Explain the appointment and disqualification 
criteria for a Managing Director in a company. 

  J¸ {ÖÁÚzvÀ {ºÁõP C¯USÚ¸UPõÚ {¯©Ú® 
©ØÖ® uSv°Ç¨¦ AÍÄ ÷PõÀPøÍ ÂÍUPÄ®. 

Or 
 (b) Describe the remuneration management process 

and the role of the board in determining it. 
  Fv¯ ÷©»õsø© ö\¯À•øÓ ©ØÖ® Aøu 

wº©õÛ¨£vÀ Áõ›¯zvß £[øP ÂÁ›UPÄ®. 

13. (a) Compare and contrast Extraordinary General 
Meetings (EGMs) and Class Meetings in a company. 

  J¸ {ÖÁÚzvß A\õuõμn ö£õxU Tmh[PÒ 
(EGMs) ©ØÖ® ÁS¨¦U Tmh[PøÍ J¨¤hÄ®. 

Or 
 (b) Discuss the legal consequences of an invalid 

company meeting and how it can be rectified. 
  uÁÓõÚ {ÖÁÚ Tmhzvß \mhŸv¯õÚ ÂøÍÄPÒ 

©ØÖ® Aøu GÆÁõÖ \› ö\´Áx Gß£øu¨ £ØÔ 
ÂÁõvUPÄ®. 

14. (a) Analyse the legal framework for the inspection and 
investigation of company accounts and records. 

  {ÖÁÚzvß PnUSPÒ ©ØÖ® £vÄPÎß B´Ä 
©ØÖ® Â\õμønUPõÚ \mh Pmhø©¨ø£ 
£S¨£õ´Ä ö\´P. 

Or 
 (b) Explain the concept of “Prevention of Oppression 

and Mismanagement” and its objectives. 
  “AhUS •øÓ ©ØÖ® uÁÓõÚ ÷©»õsø©” ©ØÖ® 

Auß ÷|õUP[PøÍ ÂÍUPÄ®. 

15.  (a) Differentiate between voluntary winding up and 
compulsory winding up of companies. 

  {ÖÁÚ[PÎß ußÚõºÁ ‰kuÀ ©ØÖ® Pmhõ¯ 
‰kuÀ BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õmøh 
ÂÍUSP. 

Or 
 (b) Describe the secretarial duties involved in the 

process of winding up a company. 
  J¸ {ÖÁÚzøu •hUS® ö\¯À£õmiÀ EÒÍ 

ö\¯»P Phø©PøÍ ÂÁ›UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the process of appointing and removing directors 
in a private company, highlighting the rights and duties 
of directors. 

 J¸ uÛ¯õº {ÖÁÚzvß C¯US|ºPøÍ {¯ªzuÀ ©ØÖ® 
}USuÀ ö\¯À•øÓø¯ ÂÍUPÄ®. C¯US|ºPÎß 
E›ø©PÒ ©ØÖ® Phø©PøÍ ÂÍUPÄ®. 

17. Discuss the legal provisions for the appointment of 
Managing Directors and Whole Time Directors in a public 
company. 

 J¸ ö£õx {ÖÁÚzvÀ {ºÁõP C¯US|ºPÒ ©ØÖ® 
•Ê÷|μ C¯US|ºPÒ {¯©ÚzvØPõÚ \mhÂvPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

18. Discuss the role of Annual General Meetings (AGMs) in 
decision-making and corporate governance. 

 •iöÁk¨£v¾® ö£¸{ÖÁÚ {ºÁõPzv¾® Á¸hõ¢vμ 
ö£õxU Tmh[PÎß (AGMs) £[øP¨ £ØÔ ÂÁõvUPÄ®. 

19. Analyse the importance of proper accounts and audit in 
preventing financial fraud and maintaining transparency 
in company operations. 

 {v ÷©õ\iPøÍz uk¨£v¾® {ÖÁÚzvß 
ö\¯À£õkPÎÀ öÁÎ¨£øhz ußø©ø¯z ÷£qÁv¾® 
•øÓ¯õÚ PnUSPÒ ©ØÖ® uoUøP°ß 
•UQ¯zxÁzøu £S¨£õ´Ä ö\´P. 

20. Elaborate on the legal procedures and implications 
involved in the winding up of companies, considering the 
interests of stakeholders. 

 £[SuõμºPÎß |»ßPøÍU P¸zvÀ öPõsk, 
{ÖÁÚ[PøÍ ‰kÁvÀ EÒÍ \mh |øh•øÓPÒ ©ØÖ® 
uõUP[PÒ £ØÔ Â›ÁõPU TÓÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is frame? 

 \mhP® GßÓõÀ GßÚ? 

2. What are the objects of classification? 

 ÁøP¨£õmiß ö£õ¸ÒPÒ GßÚ? 

3. Define the properties of Geometric mean? 

 ÁiÂ¯À \μõ\›°ß £s¦PøÍ Áøμ¯ÖUPÄ®. 

4. Calculate mean from the following data. 

Values: 1 2 3 4 5 6 7 8 9 10

Frequency: 21 30 28 40 26 34 40 9 15 57

 ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›ø¯U PnUQkP. 

©v¨¦: 1 2 3 4 5 6 7 8 9 10

Aø»öÁs: 21 30 28 40 26 34 40 9 15 57

Sub. Code 
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5. Calculate the standard deviation from the following data:  
14, 22, 9, 15, 20, 17, 12, 11. 

 ¤ßÁ¸® uμÄPÎ¼¸¢x uμÂ»UPzvøÚU PnUQkP.  
 14, 22, 9, 15, 20, 17, 12, 11. 

6. What is Regression? 

 ¤ßÚøhÄ GßÓõÀ GßÚ? 

7. List of the components of time series? 

 ÷|μzöuõhº Á›ø\°ß £S¨£õ´øÁ £mi¯¼kP. 

8. What is weighted Index number? 

 Gøh²ÒÍ SÔ±mk Gs GßÓõÀ GßÚ? 

9. What is the probability of picking a card that was red or 
black? 

 ]Á¨¦ AÀ»x P¸¨¦ Amøhø¯ Gk¨£uØPõÚ {PÌuPÄ 
GßÚ? 

10. Define conditional probability. 

 {£¢uøÚ {PÌuPÂøÚ Áøμ¯ÖUPÄ®.  

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b) 

11. (a) Distinguish between primary data and secondary 
data.  

  •ußø© uμÄ ©ØÖ® Cμshõ® {ø» uμÄPøÍ 
÷ÁÖ¨£kzxP. 

Or 

 (b) Explain the rules of Tabulation. 

  AmhÁøn ÂvPøÍ ÂÍUSP. 
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12. (a) Calculate mean from the following data. 

Values: 1 2 3 4 5 6 7 8 9 10

Frequency: 21 30 28 40 26 34 40 9 15 57

 ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›ø¯U PnUQkP. 

©v¨¦: 1 2 3 4 5 6 7 8 9 10

Aø»öÁs: 21 30 28 40 26 34 40 9 15 57

Or 

 (b) The following table give the weight of 31 person in a 
sample survey. Calculate geometric mean 

Weight 130 135 140 145 146 148 149 150

No. of person 3 4 6 6 3 5 2 1 

  ©õv› PnUöPk¨¤À 31 |£ºPÎß Gøhø¯ 
¤ßÁ¸® AmhÁønø¯ öPõkUQÓx. ÁiÂ¯À 
\μõ\›ø¯U PnUQkP. 

Gøh 130 135 140 145 146 148 149 150

|£ºPÎß 
GsoUøP 

3 4 6 6 3 5 2 1 

13. (a) Calculate mean deviation from the following data. 

x 2 4 6 8 10

f 1 4 6 4 1 

  ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\› Â»Pø»U 
PnUQkP. 

x 2 4 6 8 10

f 1 4 6 4 1 

Or 
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 (b) Calculate Karl Pearson’s coefficient of skewness for 
the following data. 25, 15, 23, 40, 27, 25, 23, 25, 20. 

  ¤ßÁ¸® uμÄPÐUPõÚ PõμÀ ¤¯º\Ûß ÁøÍ°ß 
SnPzøuU PnUQkP.   
25, 15, 23, 40, 27, 25, 23, 25, 20. 

14. (a) Write the utility of time series analysis. 

  ÷|μzöuõhº £S¨£õ´Âß £¯ß£õmøh GÊuÄ®. 

Or 

 (b) Define  

  (i) Laspeyres 

  (ii) Paasche’s and 

  (iii) Fisher index number 

  (i) »õì¥öμì 

  (ii) £õ÷å ©ØÖ® 

  (iii) L¤åº CßöhUì Gsøn Áøμ¯ÖUPÄ®. 

15.  (a) Explain the concept of independent and mutually 
exclusive event in probability. 

  {PÌuPÂÀ _¯õwÚ©õÚ ©ØÖ® £μì£μ ¤μzv÷¯P 
{PÌÂß P¸zøu ÂÍUPÄ®. 

Or 

 (b) A problem in statistics is given to five students  
A, B, C, D and E. Their chances of solving it are 

6
1

and
5
1

,
4
1

,
3
1

,
2
1

. What is the probability that the 

problem will be solved. 

  A, B, C, D ©ØÖ® E BQ¯ I¢x ©õnÁºPÐUS 
¦ÒÎÂ£μ[PÎÀ EÒÍ J¸ ¤μa\øÚ 

öPõkUP¨£mkÒÍx 
5
1

,
4
1

,
3
1

,
2
1

 ©ØÖ® 
6
1

 AÁºPÒ 

Aøu wº¨£uØPõÚ Áõ´¨¦PÒ uõß ¤μa\øÚ 
wºUP¨£k® {PÌuPÄ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the methods of collecting primary and secondary 

data. 

 •ußø© uμÄ ©ØÖ® Cμshõ® {ø» uμÄ ÷\P›¨¦ 

•øÓPøÍ ÂÍUSP. 

17. Calculate the median from the following table. 

Mark 10–25 25–40 40–55 55–70 70–85 85–100

Frequency 6 20 44 26 3 1 

 ¤ßÁ¸® AmhÁøn°¼¸¢x Cøh{ø»ø¯U PnUQkP. 

©v¨ö£s 10–25 25–40 40–55 55–70 70–85 85–100

Aø»öÁs 6 20 44 26 3 1 

18. Calculate mean deviation from mean from the following 

data.  

Height 156 159 160 161 162 163 164 165 166

No.of person 15 20 32 35 33 22 20 10 8

 ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›°¼¸¢x \μõ\› Â»Pø»U 

PnUQkP. 

E¯μ® 156 159 160 161 162 163 164 165 166

|£ºPÎß 

GsoUøP 
15 20 32 35 33 22 20 10 8
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19. Obtain the straight line trend equation and tabulate 
against each year after estimation of the trend and short–
term fluctuation. 

Year 1977 1961 1962 1963 1964

Value 380 400 650 720 690 

Year 1965 1966 1967 1968  

Value 620 670 950 1040  

 ÷|º÷Põmk ÷£õUS \©ß£õmøh¨ ö£ÓÄ® ©ØÖ® ÷£õUS 
©ØÖ® SÖQ¯ Põ» HØÓ CÓUP[PÎß ©v¨¥miØS¨ 
¤ÓS JÆöÁõ¸ BsiØUPõÚ 
AmhÁøn¨£kzuÄ®. 

Bsk 1977 1961 1962 1963 1964

©v¨¦ 380 400 650 720 690 

Bsk 1965 1966 1967 1968  

©v¨¦ 620 670 950 1040  

20. Explain the addition and multiplication theorem of 
probability. 

 {PÌuPÂß TmhÀ ©ØÖ® ö£¸UPÀ ÷uØÓzvøÚ 
ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Share Capital? 

 £[S •uÀ GßÓõÀ GßÚ? 

2. What is “Reissue of shares”? 

 “£[S ©ÖöÁÎ±k” GßÓõÀ GßÚ? 

3. What is “Divisible profit”? 

 “£Qº¢uÎUP¨£mh C»õ£®” GßÓõÀ GßÚ? 

4. Interpret the “Redeemable Preference shares”. 

 “«mPzuUP – •ßÝ›ø©¨ £[SPøÍ” ÂÍUPÄ®. 

5. What is Debenture 

 PhÜmk¨ £zvμ® GßÓõÀ GßÚ? 

6. What is Ex-interest on debentures? 

 Phß £zvμ[PÒ «uõÚ •ß°¸¢u Ámi GßÓõÀ GßÚ? 

Sub. Code 
22BCS5C1 
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7. What is Final dividend? 

 “CÖv £[Põuõ¯®” GßÓõÀ GßÚ? 

8. What is Bonus share? 

 FUP¨ £[S GßÓõÀ GßÚ? 

9. How to calculate a sales ratio? 

 ÂØ£øÚ ÂQuzøu GÆÁõÖ PnUQkÁx? 

10. What is the Time ratio analysis? 

 “Põ»&ÂQu £S¨£õ´Ä” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) ‘A’ Limited company issued 1,00,000 equity shares 
of Rs.10 each at a premium of Rs.2 per share 
payable as follows : 

  On application   Rs.2 

  On allotment   Rs.2 (including premium) 

  On 1st call   Rs.3 

  On final call  Rs.2 

  All the shares offered were subscribed by the public 
and cash duly received. Make the necessary Journal 
and cash book entries. 

  J¸ A ¼ªöhm {ÖÁÚ®, u»õ ¹.10 ©v¨¦ÒÍ 
10,00,00 \© E›ø©¨ £[SPøÍ J¸ £[QØS ¹.2 
¤Ÿª¯zvÀ RÌUPshÁõÖ ö\¾zu ÷Ásk®. 

  Âsn¨£zvÀ  ¹.2 

  JxURmiÀ  ¹.2 (¤Ÿª¯® Em£h) 

  •uÀ AøÇ¨¦  ¹.3 

  CÓv AøÇ¨¦ ¹.2 
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  ÁÇ[P¨£mh AøÚzx¨ £[SPÐ® ö£õx©UPÍõÀ 
\¢uõ ö\¾zu¨£mk •øÓ¯õP¨ ö£Ó¨£mh £n® 
÷uøÁ¯õÚ £zv›øP ©ØÖ® £n¨ ¦zuPzvØPõÚ 
SÔ¨÷£mk £vÄPÒ u¸P. 

Or 

 (b) The directors of ‘Z’ co. Ltd, forfeit 10 shares of Rs.50 
each belonging to ‘Karthik’ who had paid Rs.5 per 
share on application, Rs.10 on allotment and Rs.15 
on first call but failed to pay the final call of Rs.20. 
The same shares are then issued to ‘Raj’ as fully 
paid on receipt of Rs.400. Pass journal entries with 
narration to record the forfeiture and the reissue of 
shares. 

  “C\m” ÷Põ ¼ªöhm C¯US|ºPÒ, Âsn¨£zvÀ 
J¸ £[QØS ¹.5, JxURmiÀ ¹.10 ©ØÖ® •uÀ 

AøÇ¨¤À ¹.15 ö\¾zv¯ ‘PõºzvU’ Gß£Á¸USa 
ö\õ¢u©õÚ u»õ ¹.50 ©v¨¦ÒÍ 10 £[SPøÍ 
£Ô•uÀ ö\´uÚº ¹.20 Cß CÖv AøÇ¨¦. A÷u 
£[SPÒ ¹.400 μ^vÀ •Êø©¯õP ö\¾zu¨£mh 
μõäUS ÁÇ[P¨£k®. á¨v ©ØÖ® £[SPÎß 
©ÖöÁÎ±møh £vÄ ö\´¯ ÂÁμzxhß 
SÔ¨÷£mk¨ £vÄPøÍ u¸P. 

12. (a) Redemption of 10,000 preference shares of Rs.100 
each was carried out of reserves and out of the issue 
of 4,000 shares of Rs.100 each @ Rs.95. What is the 
amount of capital redemption reserve account that 
is required?  

  10,000 «m¦ •ßÝ›ø©¨ £[SPøÍ u»õ ¹.100 
øP°¸¨¤À C¸¢x ÷©ØöPõÒÍ¨£mhx ©ØÖ® 
¹.100, 4,000 £[S öÁÎ±miÀ JÆöÁõ¸ £[SUS 
¹.95. ÷uøÁ¨£k® ‰»uÚ «m¦ C¸¨¦U PnUQß 
AÍÄ GßÚ? 

Or 



S–5144 

  

  4

 (b) A company had, as part of its share capital, 1,000 

Redeemable preference shares of Rs.100 each fully 

paid up. When the shares became due for 

redemption, the company had Rs.60,000 in the 

reserve fund. The company made minimum new 

issue of equity shares of Rs.25 each necessary for 

the purpose of redemption and received cash in full. 

Make the necessary journal entries recording the 

above transactions. 

  J¸ {ÖÁÚ®, Auß £[S ‰»uÚzvß J¸ £Sv¯õP 

1000 «m¦ ö\´¯UTi¯ •ßÝ›ø©¨ £[SPÒ 

JÆöÁõßÖ® ¹.100 GßÓ AÍÂÀ •Êø©¯õPa 

ö\¾zu¨£mhx. £[SPøÍ «mS® ÷£õx 

{ÖÁÚzvÀ ¹. 60,000 Põ¨¦ {v EÒÍx. «m¤ß 

÷|õUPzvØPõP ÷uøÁ¯õÚ SøÓ¢u£m\® ¹.25 

£[SPÎß ¦v¯ öÁÎ±møh {ÖÁÚ® ö\´ux 

©ØÖ® •Ê £nzøu²® ö£ØÓx. 

  ÷©÷» EÒÍ |hÁiUøPPøÍ¨ £vÄ ö\´x öPõÒÍ 

÷uøÁ¯õÚU SÔ¨÷£mk¨ £vÄPøÍ u¸P. 

13. (a) Zed Ltd issued 1,000 9% debentures of Rs.100 each 

payable Rs.20 on application and the balance on 

allotment. Application  were received for 1500 

debentures out of which applications for 900 were 

allotted fully. Applicants for 400 debentures were 

allotted 100 debentures and the remaining were 

rejected. All sum due were received. 

  Give journal entries and a/c’s show how these 

transaction will be reflected in Balance Sheet of the 

company. 
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  ám ¼ªöhm Âsn¨£zvß «x ö\¾zu ÷Ási¯ 
1000 9% Phß £zvμ[PÒ ¹.100 JÆöÁõßÖ® ¹.20 
©ØÖ® JxURmiß «vø¯ ÁÇ[Q¯x. 1500 
PhÜmk¨ £zvμ[PÐUS Âsn¨£[PÒ 
ö£Ó¨£mhÚ. AvÀ 900UPõÚ Âsn¨£[PÒ 
•Êø©¯õP JxUP¨£mhÚ 400 PhÜmk¨ 
£zvμ[PÐUS Âsn¨£zuÁºPÐUS 100 Phß 
£zvμ[PÒ JxUP¨£mk Gg]¯øÁ 
{μõP›UP¨£mhøÁ. AøÚzxz öuõøP²® 
ö£Ó¨£mhx. ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPÒ 
©ØÖ® ÷©÷» Psh |hÁiUøPPøÍ Ai¨£øh¯õPU 
öPõsk {ÖÁÚzvß C¸¨¦ {ø»U SÔ¨¦&À 
GÆÁõÖ ¤μv£¼US® Gß£øu PõmhÄ®. 

Or 

 (b) Z Ltd., issued 2000 6% debentures of Rs.100 each on 
1.1.2018 at a discount of 10% redeemable at a 
premium of 5%. Give journal entries relating to 
issue of debentures and debenture interest for the 
period ended 31.12.2018, assuming that the interest 
was payable half yearly on 30th June and 31st 
December and TDS is 10%. Accounts are closed on 
31st December every year. 

  ám ¼ªöhm 1.1.2018 AßÖ u»õ 100 ¹£õ´US 
2000 6% Phß £zvμ[PøÍ 10% uÒÐ£i°À 5% 
•øÚ©zvÀ «möhkUP»õ®. 31.12.2018 B® Bsk 
•iÁøh¢u Põ»zvØPõÚ Phß £zvμ[PÒ ©ØÖ® 
PhÜmk Ámi öuõhº£õÚ SÔ¨÷£mk¨ £vÄPÒ 
u¸P. Ámi Aøμ¯õskUS áúß 30 ©ØÖ® i\®£º 
31 AßÖ ö\¾zu¨£k® GßÖ®, TDS 10% PnUSPÒ 
JÆöÁõ¸ Bsk® i\®£º 31 B® ÷uv ‰h¨£k® 
GßÖ øÁzxU öPõÒ÷Áõ® 

14. (a) Explain the accounting treatment of interim 
dividend and final dividend. 

  CøhUPõ» DÄzöuõøP ©ØÖ® CÖv 
DÄzöuõøP°ß PnUQ¯À PnUQkuø»ø¯ 
ÂÍUPÄ®. 

Or 
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 (b) The following ledger balances were extracted from 
the books of Varun Ltd. as on 31.3.2013 

  Land and building Rs.2,00,000; 12% debentures 
Rs.2,00,000 ; Share capital Rs.10,00,000 [equity 
shares of Rs.10 each fully paid up); Plant and 
Machinery Rs.8,00,000; Goodwill Rs.2,00,000; 
Investment in shares of Raja Ltd Rs.2,00,000; 
General Reserve Rs.1,95,000; Stock in trade 
Rs.1,00,000; Bills receivable Rs.50,000; Debtors 
Rs.1,50,000; Creditors Rs.1,00,000 Bank loan 
(unsecured) Rs.1,00,000; Provision for tax 
Rs.50,000; Proposed dividend Rs.55,000. 

  Prepare the Balance Sheet of the company as per 
Revised Schedule-VI, Part-1 of the Companies Act – 
1956. 

  31.3.2013 {»® ©ØÖ® Pmih® ¹.2,00,000Cß £i 
Á¸ß ¼ªöhm ¦zuP[PÎÀ C¸¢x ¤ßÁ¸® 

ö»máº {¾øÁPÒ ¤›zöukUP¨£mhÚ; 12% Phß 

£zvμ[PÒ ¹.2,00,000 ; £[S ‰»uÚ® ¹.10,00,000 
(\©£[SPÒ ¹.100 JÆöÁõßÖ® •Êø©¯õP 
ö\¾zu¨£mhx). Bø» ©ØÖ® C¯¢vμ[PÒ 

¹.8,00,000; |Øö£¯º ¹.2,00,000; Cμõáõ ¼ªöhm 

£[SPÎÀ •u½k ¹.2,00,000; ö£õx C¸¨¦ 

¹.1,95,000; ÁºzuPzvÀ (£[S) \μUQ¸¨¦ 

¹.1,00,000; ö£ÖÁuØUS›¯ ©õØÖa^mk ¹.50,000; 
PhÚõÎPÒ ¹.1,50,000; PhÜ¢÷uõº ¹.1,00,000 Á[Q 

Phß (£õxPõ¨£ØÓx) ¹.1,00,000; Á¸©õÚ Á› 

JxURk ¹.50,000; •ßTmi÷¯ ö\¾zv¯ 

£[Põuõ¯® ¹.55,000. 

  {ÖÁÚ[PÎß \mh® 1956Cß £Pv 1 & v¸zu¨£mh 

AmhÁøn-VI&ß £i {ÖÁÚzvß C¸¨¦ {ø»U 

SÔ¨ø£ u¯õ›UPÄ®. 
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15. (a) Describe the methods of ascertaining ‘profits prior 
to incorporation’. 

  ‘Cøn¨¦US •¢øu¯ C»õ£zøu’ PshÔ²® 
•øÓPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Ganesh Ltd., was incorporated on 1st May 2016 to 
purchase the running business of Vinayak & Co 
with effect from 1st Jan-2016. The company obtained 
certificate of commencement of business on  
24th Aug-2016. Calculate the time ratio, if the 
account were finalized on 31st December 2016. 

  P÷nè ¼ªöhm, Â|õ¯U & ÷Põ {ÖÁÚzvß 
C¯[S® ÁoPzøu 1 áÚÁ›&2016 •uÀ 
Áõ[SÁuØPõP 1 ÷© 2016 AßÖ öuõh[P¨£mhx. 
{ÖÁÚ® 24 BPìm 2016 AßÖ ÁoPzøuz 
öuõh[Q¯uØPõÚ \õßÔuøÇ¨ ö£ØÓx. PnUQß 
÷|μ ÂQuzøu PnUQhÄ® 31 i\®£º 2016 AßÖ 
CÖv ö\´¯¨£mhx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Raj Ltd., issued 10,000 shares of Rs.100 each, at Rs.120 
payable as follows : 

 Rs.25 on application 

 Rs.45 on allotment (including premium) 

 Rs.20 on first call and 

 Rs.30 final call. 

 9000 shares were applied for and were allotted. All 
moneys were received with the exception of the first and 
final calls on 200 shares held by Alagar. These shares 
were forfeited. 

 Give journal entries to record the above transactions. 
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 μõä ¼ªöhm, u»õ ¹.100 ©v¨¦ÒÍ 10,000 £[SPøÍ 
¹.120US RÌUPshÁõÖ ÁÇ[Q¯x : 

 Âsn¨£[PÐUS ¹.25 ¹£õ´ 

 JxURmiÀ ¹.45 (•øn©® Em£h) 

 •uÀ AøÇ¨¦US ¹.20 ©ØÖ® 

 CÓv AøÇ¨¤ß ÷£õx ¹.30. 

 9000 £[SPÒ Âsn¨¤UP¨£mk JxUP¨£mhÚ. AÇPº 

øÁzv¸¢u 200 £[SPÎÀ •uÀ ©ØÖ® CÖv AøÇ¨¦PÒ 

uÂμ AøÚzx¨ £n•® ö£Ó¨£mhx. C¢u¨ £[SPÒ 
£Ô•uÀ ö\´¯¨£mhÚ. ÷©ØPsh £›Áºzuønø¯¨ 
£vÄ ö\´¯ SÔ¨÷£mk £vÄPÒ u¸P. 

17. The following is the Balance Sheet of Food Fault Ltd as 

on 31.3.2020 

Liabilities  Rs. Assets Rs. 

7500 ordinary shares of  Fixed assets  8,00,000

  Rs. 100 each 7,50,000 Debenture Redemption 88,500

2000, 15% preference  2,00,000  fund Investment 

  shares of Rs. 100 each  Stock  6,00,800

General reserve 6,50,000 Debtors  2,60,700

P and L A/c 50,000 Cash at bank  3,00,000

Deb. Red. Fund  88,480  

12% debentures  1,00,000  

Sundry creditors 2,11,520  

 20,50,000  20,50,000
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 On this date, the company redeemed at a premium of 5% 
all of its preference shares and debentures for the 
purpose, it sold at all the investments for Rs.90,000 and 
allotted to its equity shareholders 1500 equity shares of 
Rs.100 each at par, the entire amount being received 
immediately. 

 After redemption of Preference shares and debentures, 
the company issued the fully paid bonus share of Rs.100 
for every three shares held. 

 Show Journal entries for the above and prepare the 
Balance Sheet thereafter. 

 31.3.2020 AßÖ ¦m £õ¾k ¼ªöhm&ß C¸¨¦ {ø» 
SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

7500 \õuõμn¨ £[SPÒ  {ø» ö\õzxUPÒ  8,00,000

JÆöÁõßÖ® ¹. 100 Ãu®   7,50,000 Phß «m¦ {v   

 2000,15% •ßÝ›ø© 
£[SPÒ 

   ‰u½kPÒ 88,500

 u»õ ¹. 100 Ãu®  2,00,000 \μUQ¸¨¦  6,00,800

ö£õxU Põ¨¦  6,50,000 PhÚõÎPÒ  2,60,700

C»õ£ |mh P/S 50,000 Á[Q C¸¨¦  3,00,000

Phß «m¦ {v 88,480  

12%  Phß £zvμ[PÒ 1,00,000  

PhÜ¢÷uõº 2,11,520  

 20,50,000  20,50,000

 C¢u ÷uv°À, {ÖÁÚ® Auß AøÚzx Â¸¨£¨ £[SPÒ 
©ØÖ® Phß £zvμ[PÒ AøÚzøu²® 5% •øÚ©zvÀ 
«mk Gkzux. C¢u ÷|õUPzvØPõP, AøÚzx 
•u½kPøÍ²® ¹.90,000 ©ØÖ® Auß \õuõμn 

£[SuõμºPÐUS 1500 \õuõμn £[SPÒ u»õ ¹.100 
\©©õP •Ê öuõøP²® EhÚi¯õP¨ ö£Ó¨£mk, 
•ßÝ›ø© £[SPÒ ©ØÖ® Phß £zvμ[PøÍ «möhkzu 
¤ÓS, {ÖÁÚ® JßøÓ öÁÎ°mhx. 
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 •Êø©¯õP ö\¾zu¨£mh ÷£õÚì £[S ¹.100 

øÁzv¸US® JÆöÁõ¸ 3 £[SPÐUS®, ÷©÷» 

EÒÍÁØÖUPõÚ ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPÒ u¸P. 

Auß ¤ÓS C¸¨¦ {ø»U SÔ¨ø£ u¯õ›UPÄ®. 

18. The Balance Sheet of P Ltd as on 30th June 2020 

contained interalia the following information : 

 9% debenture Rs.3,00,000 

 Sinking fund for redemption of debentures 2,00,000. 

Sinking fund investment is represented by 50,000 own 

debentures purchased at Rs. 94 and the remaining 

amount by Rs. 1,60,000 5% Government Loan bonds. 

For redeeming all the debentures, the Government Loan 

bonds were sold at par.   

Give journal entries to effect the redemption. 

 áüß&30 B® ÷uv¯ßÖ ¤. ¼ªöhm&Cß C¸¨¦ {ø»U 

SÔ¨¤À ¤ßÁ¸® uPÁÀPÒ EÒÍÚ.  

 9% PhÜmk¨ £zvμ® ¹. 3,00,000  

 Phß £zvμ[PøÍ «m£uØPõÚ ‰ÌS® {v ¹. 2,00,000 

‰ÌS® {v •u½k ¹.94 CÀ Áõ[Q¯ 50,000 ö\õ¢uUPhß 

£zvμ[PÒ ©ØÖ® «u•ÒÍ öuõøP ¹. 1,60,000 5% Aμ_ 

Phß £zvμ[PÒ ‰»® SÔ¨¤h¨£kQßÓx.  

 AøÚzx Phß £zvμ[PøÍ²® «möhk¨£uØPõÚ Aμ_ 

Phß £zvμ[PÒ \© AÍÂÀ ÂØP¨£mhÚ.  

 «möhk¨ø£a ö\¯À£kzu ÷uøÁ¯õÚ SÔ¨÷£mk¨ 

£vÄPÒ u¸P.  
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19. Prepare a balance sheet as at 31st March 2000 from the 
following information of ABC Ltd as required under the 
Companies Act – 1956:  

Particulars Rs. Particulars Rs. 

Team loan 10,00,000 Loss for the year 3,58,000

Creditors 11,45,000 Sundry debtors 12,25,000

Advances 3,72,000 Loan from directors 2,00,000

Cash and bank balance 2,75,000 Provision for doubtful debts 20,200

Staff advance 55,000 Stock 4,10,000

Provision for tax 1,70,000 Fixed assets 51,50,000

Securities premium 4,75,000 Finished goods 7,50,000

Loose tools 50,000  

Investment 2,25,200  

General reserve 20,50,000  

Capital work in progress 2,00,000  

 Additional information:  

 (a) 30,000 equity shares of Rs. 100 each fully paid up.  

 (b) 10,000 – 10% pref. shares of Rs. 100 each fully paid 
up.  

  (i) Term loan is secured. 

  (ii)  Depreciation on assets : Rs. 5,00,000. 

 {ÖÁÚ[PÒ \mh® 1956&Cß RÌ ÷uøÁ¨£k® ABC 
¼ªöhmiß ¤ßÁ¸® uPÁÀPÎ¼¸¢x ©õºa, 31, 2000 
CÀ C¸¨¦ {ø»U SÔ¨ø£z u¯õ›UPÄ®.  

 ¹.  ¹. 

Põ» Phß 10,00,000 A¢u BsiØPõÚ |mh® 3,58,000

PhÜ¢÷uõº 11,45,000 £Ø£» PhÚõÎPÒ 12,25,000

•ßTmi¯øÁ 3,72,000 C¯US|›hª¸¢x Phß 2,00,000

öμõUP® ©ØÖ® 
Á[Q°¸¨¦ 

2,75,000 \¢÷uPzvØUS›¯ ©ØÖ® 
ÁμõUPhß 

20,200
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 ¹.  ¹. 

•ßTmi ö\¾zv¯x 
A¾Á»¸US 

55,000 \μUQ¸¨¦ 4,10,000

Á¸©õÚ Á› JxURk 1,70,000 {ø»¯õÚ ö\õzx 51,50,000

£zvμzvÀ •øÚ©® 4,75,000 CÖv\μUQ¸¨¦ 7,50,000

uÍÁõh P¸ÂPÒ 50,000  

•u½k 2,25,200  

ö£õx Põ¨¦ 20,50,000  

‰»uÚ ÷Áø» 
•ß÷ÚØ£õkPÒ 

2,00,000  

 TkuÀ uPÁÀPÒ:  

 £[S ‰»uÚ® ¤ßÁ¸©õÖ öPõskÒÍx.  

 (A) 30,000 \õuõμn¨ £[SPÒ ¹. 100 JÆöÁõ¸ 
£[SUS® ö\¾zu¨£mhx. 

 (B) 10,000 – 10% •ßÝ›ø©¨ £[SPÒ ¹. 100 
JÆöÁõßÖ® •Êø©¯õP ö\¾zu¨£mhx. 

  (i) Põ» Phß £õxPõUP¨£kQÓx. 

  (ii) ö\õzxUPÎß «uõÚ ÷u´©õÚ® ¹. 5,00,000. 

20. What are the different ‘ratios’ used in computing ‘profit 
prior to incorporation’? 

 ©v¨¤h¨£kÁvÀ £¯ß£kzu¨£k® öÁÆ÷ÁÖ 
“ÂQu[PÒ” GßÚ Cøn¨¦US •¢øu¯ C»õ£®? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is assessment year? 

 ©v¨¥mk Bsk GßÓõÀ GßÚ? 

2. What is previous year?  

 •¢øu¯ Bsk GßÓõÀ GßÚ? 

3. What is salary? 

 ‘‘\®£Í®’’ GßÓõÀ GßÚ? 

4. What is perquisites? 

 ÷©»vP Á¸©õÚ® GßÓõÀ GßÚ? 

5. What the term ‘‘Business’’? 

 ‘‘ÁoP® ’’ GßÓ ö\õÀ GßÚ? 

6. Define the term ‘‘Profession’’. 

 ‘‘öuõÈÀ’’ GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. What do you mean by revocable transfer? 

 v¸®£¨ ö£ÓUTi¯ Ch©õØÓ® GßÖ GøuU 

SÔ¨¤kRÔºPÒ. 

8. What is meant by set-off of losses? 

 CÇ¨¦PÎß öuõS¨¦ GßÓõÀ GßÚ? 

9. State any two powers of joint commissioner of income tax. 

 Á¸©õÚ® Á› Cøn Bøn°ß H÷uÝ® Cμsk 

AvPõμ[PÒ ¯õøÁ? 

10. State the rate of income tax for individual. 

 uÛ|£¸UPõÚ Á¸©õÚ Á› ÂQuzøuU SÔ¨¤hÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between ‘‘capital expenditure and 

revenue expenditure’’. 

  ‘‘‰»uÚ ö\»Ä ©ØÖ® Á¸Áõ´ ö\»Ä’’ 

BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õk. 

Or 

 (b) State the conditions to be fulfilled by an individual 

to become resident in India.  

  C¢v¯õÂÀ Á]¨£ÁμõP BÁuØS J¸ |£º §ºzv 

ö\´¯ ÷Ási¯ {£¢uøÚPøÍU SÔ¨¤hÄ®. 
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12. (a) What are the features of salary? 

  \®£Ízvß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) Calculate gross annual value from the particular 
given below : 

  Municipal  value Rs. 60,000 p.a. 

  Fair rental value Rs. 66,000 p.a. 

  Standard rent Rs. 72 ,000 p.a. 

  Actual rent Rs. 78,000 p.a.  

  Date of completion : 30-6-2024 

  Date of letting : 1-8-2024. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ö©õzu 
Bsk ©v¨ø£U PnUQhÄ®. 

  |Pμõm] ÁõhøP ©v¨¦ ¹.60,000 ¤.G 

  {¯õ¯©õÚ ÁõhøP ©v¨¦ ¹. 66,000 ¤.G 

  {ø»¯õÚ ÁõhøP ¹. 72,000 ¤.G 

  Esø©¯õÚ ÁõhøP ¹. 78,000 ¤.G 

  {øÓÄ ö\´¯¨£mh |õÒ 30–6–2024  

  AÝ©vzu |õÒ 1–8–2024. 

13. (a) What are professional receipts and professional 
expenses? 

  öuõÈÀ•øÓ μ^x ©ØÖ® öuõÈÀ •øÓ 
ö\»ÂÚ[PÒ GßÚ? 

Or 

 (b) Mr. X sells the determines in the 2023-24. The 
details are as under : 

  Sale consideration Rs. 6,00,000 

  Year of acquisition 2004-05 

  Cost of acquisition Rs. 3,00,000 

  Calculate capital gain. 
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  v¸. GUì 2023–24 B® BsiÀ wº©õÚ[PøÍ 
ÂØQÓx. ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

  ÂØ£øÚ £›^»øÚ ¹. 6,00,000 

  øP¯P¨£kzu¨£mh Bsk 2004–05 

  øP¯P¨£kzxuÀ ö\»Ä ¹. 3,00,000 

  ‰»uÚ Buõ¯zøu PnUQk[PÒ. 

14. (a) State the significance of clubbing of income. 

  Á¸©õÚzøuU TmkÁuß •UQ¯zxÁzøuU 
SÔ¨¤hÄ®. 

Or 

 (b) Compute gross total income of Mr. Singh. 

 Rs. 

  (i) Loss from business (proprietary  

   Concern)    45,000 

  (ii) Loss from house property 34,000 

  (iii) Capital gain  

   (1) Short term capital gain 45,000 

   (2) Long-term capital gain  67,000 

  v¸. ][Qß ö©õzu Á¸©õÚzøuU PnUQk[PÒ. 

 ¹. 

  (i) ÁoPzuõÀ GØ£k® CÇ¨¦  

   (uÛ²›ø© \õº¢u AUPøÓ) 45,000 

  (ii) Ãmk ö\õzv¼¸¢x CÇ¨¦  34,000 

  (iii) ‰»uÚ  Buõ¯®. 

   (1) SÖQ¯ Põ» ‰»uÚ Buõ¯® 45,000 

   (2) }sh Põ» ‰»uÚ Buõ¯® 67,000 
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15. (a) Explain the powers of commissioner and deputy. 

  xøn ©ØÖ® B´ÁõÍ›ß AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) Explain the method of calculating the income of the 
firm.  

  {ÖÁÚzvß Á¸©õÚzøu PnUQk® •øÓø¯ 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Compute gross total income of Mr. X if he is a  

 (a)  Resident 

 (b) Not ordinarily resident  

 (c) Non -resident. 

  (i) Salary received in India Rs. 60,000 

  (ii) Income earned in India, received in London 
Rs. 7,000 

  (iii) Income from business in Iran but controlled 
and managed from India Rs. 13,000 

  (iv) Income from house property in Nepal  
Rs. 5,000 

  (v) Income of 2004-05 in USA, Now-brought to 
India Rs. 10,000. 

 v¸. GUì J¸  

 (A) Á]¨£ÁμõP 

 (B) \õuõμn©õP Á]¨£ÁμõP CÀø» 

 (C) Si°¸¨¦ CÀ»õuÁμõP C¸¢uõÀ AÁμx ö©õzu 
Á¸©õÚzøuU PnUQk[PÒ. 
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  (i) C¢v¯õÂÀ ö£Ó¨£k® \®£Í® ¹. 60,000 

  (ii) C¢v¯õÂÀ \®£õvzu Á¸©õÚ®, »shÛÀ  
¹. 7,000 ö£Ó¨£mhx 

  (iii) DμõÛÀ ÁoPzvÀ C¸¢x Á¸©õÚ® BÚõÀ 
C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£mk 
{ºÁQUP¨£kQÓx ¹. 13,000 

  (iv) ÷|£õÍzvÀ EÒÍ Ãmka ö\õzvß Á¸©õÚ® 
¹. 5,000 

  (v) Aö©›UPõÂÀ 2004–05 Cß Á¸©õÚ® 
C¨÷£õx, C¢v¯õÂØS öPõsk Áμ¨£mhx 
¹. 10,000. 

17. Income details of Thirumurugan for the financial year 
2023-24 are as follows : 

 (a) Salary Rs. 5,000 p.m 

 (b) D.A. Rs. 2,000 p.m 

 (c) Entertainment allowance Rs. 300 p.m 

 (d) Employer contribution to RPF Rs. 7,900 p.a. 

 (e) Interest credited to RPF @ 9.5% Rs. 1,000 

 (f) City compensatory allowance Rs. 150 p.m. 

 (g) Medical allowance Rs. 100 p.m. 

 (h)  HRA Rs. 600 p.m. (Rent paid Rs. 750 p.m) 

  Calculate salary income for the AY 2024–25. 

 2023&24 {v¯õsiØPõÚ v¸ •¸PÛß Á¸©õÚ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

 (A) \®£Í® ¹. 5,000 (©õu®) 

 (B)  APÂø»¨ £i ¹. 2,000 (©õu®) 

 (C) ö£õÊx ÷£õUS öPõk¨£ÍÄ ¹.300 (©õu®) 

 (D) ©Ö^μø©¨¤ß Á¸[Põ» øÁ¨¦ {vUS •u»õÎ°ß 

£[PÎ¨¦ ¹. 7900 p.a. 
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 (E) ©Ö^μø©¨¤ß Á¸[Põ» øÁ¨¦ {vUS ÁμÄ 
øÁUP¨£mh Ámi @ 9.5% ¹. 1,000 

 (F) |Pμ CÇ¨¥k öPõk¨¦nºÄ  ¹.150 (©õu®) 

 (G) ©¸zxÁ öPõk¨¦nºÄ ¹. 100 (©õu®) 

 (H)  Ãmk ÁõhøP  öPõk¨¦nºÄ ¹. 600 (©õu®) 
(ÁõhøP ¹. 750 ©õu®). 

  ©v¨¥mk BshõÚ 2024–25 UPõÚ \®£Í 
Á¸©õÚzøuU PnUQk[PÒ. 

18. Compute income from other sources from the following: 

 Rs. 

 Directors fees    12,000 

 Income from agriculture land in Pakistan  80,000 

 Interest from post office saving account 1,500 

 Interest on fixed deposit   1,800 

 Winning from Lotteries   50,000 

 Royalty on books (expenses Rs. 4,000) 20,000 

 Gross word puzzle price   2,500 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ¤Ó Buõμ[PÎÀ C¸¢x 
Á¸©õÚzøuU PnUQk[PÒ. 

 ¹. 

 C¯US|º Pmhn®    12,000 

 £õQìuõÛÀ ÂÁ\õ¯ {»zvÀ C¸¢x Á¸©õÚ®  80,000 

 Ag\»P ÷\ª¨¤À C¸¢x Ámi  1,500 

 {ø»¯õÚ øÁ¨¦zöuõøPUPõÚ  Ámi  1,800 

 C»õmh›PÎÀ C¸¢x ¹. 50,000 (öÁØÔ ö£ØÓ) 

 ¦zuP[PÐUPõÚ μõ¯À i (ö\»Ä ¹. 4,000)  20,000 

 (Buõ¯®)   

 SÖUöPÊzx ¦vº £›_    2,500 
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19. Compute the total income of Mr. A and Mrs. A from the 
following information : 

 Salary income (computed) of Mrs. A Rs. 2,30,000 

 Income from profession of Mr. A Rs. 3,90,000 

 Income of Minor Son B from company deposit Rs. 15,000 

 Income of Minor daughter C from special talent  
Rs. 32,000 

 Interest from bank received by C on deposit Rs. 3,000 

 Gift received by ‘C’ on 30-9-2023 from friend of  
Mrs. A Rs. 2,500. 

 ¤ßÁ¸® uPÁ¼¸¢x v¸. ‘H’ ©ØÖ® v¸©v ‘H’ 
BQ÷¯õ›ß ö©õzu Á¸©õÚzøuU PnUQk[PÒ. 

 v¸©v ‘H’ Cß öuõÈÀ ¹. 2,30,000 \®£Í Á¸©õÚ® 
(PnUQh¨£mhx) 

 v¸. ‘H’ Cß öuõÈÀ ‰»® Á¸©õÚ® ¹. 3,90,000 

 {ÖÁÚ øÁ¨¦z öuõøP°À C¸¢x ø©Úº ©Pß ‘¤’ Cß 
Á¸©õÚ® ¹. 15,000 

 ø©Úº ©PÒ ‘‘]’’ °ß Á¸©õÚ® ]Ó¨¦ vÓø©°¼¸¢x  
¹. 32,000 

 ¹. 3,000 øÁ¨¦zöuõøPUS Á[Q°À C¸¢x  ‘]’ ö£ØÓ 
Ámi ‘]’ 30–9–2023 AßÖ v¸©v ‘H’ °ß ÷uõÈ°h® 
C¸¢x ö£ØÓ £›_ ¹.2,500. 

20. Explain the various types of assessment. 

 ‘‘£À÷ÁÖ ÁøP¯õÚ ©v¨¥møh’’ ÂÍUPÄ®. 

–––––––––– 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is ‘bad corporate governance’? 

 ‘÷©õ\©õÚ & ö£¸{ÖÁÚ {ºÁõP®’ GßÓõÀ GßÚ? 

2. Define ‘Good Governance’. 

 ‘|À»õm]’ Gß£øu Áøμ¯ÖUPÄ®. 

3. What is ‘SEBI’? 

 ‘ö\¤’ Gß£x GßÚ? 

4. What is code of conduct for SEBI? 

 “ö\¤°ß |hzøu ö|Ô•øÓ” GßÓõÀ GßÚ? 

5. What is “sustainability reporting”? 

 {ø»zußø© AÔUøP GßÓõÀ GßÚ? 

6. Briefly explain the dimension of corporate governance. 

 ö£¸ {ÖÁÚ {ºÁõPzvß £›nõ©® £ØÔ _¸UP©õP 
ÂÍUPÄ®. 

Sub. Code 
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7. Who is stakeholders? 

 £[SuõμºPÒ Gß£Áº ¯õº? 

8. State any two objectives of corporate social responsibility. 

 ö£¸ {ÖÁÚ \‰P¨ ö£õÖ¨¤ß H÷uÝ® Cμsk 
÷|õUP[PÒ ¯õøÁ? 

9. What is social audit? 

 \‰P uoUøP Gß£x GßÚ? 

10. What is ethics training programme? 

 ö|Ô•øÓPÒ £°Ø] vmh® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer any five questions. 

11. (a) What are the advantages of corporate governance? 

  ö£¸ {ÖÁÚ {ºÁõPzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the “Consequence of bad governance”. 

  ÷©õ\©õÚ {ºÁõPzvß ÂøÍÄPøÍ ÂÍUPÄ®. 

12. (a) What are the importance of SEBI code of conduct? 

  ö\¤°ß |hzøu SÔ±miß •UQ¯zxÁ® GßÚ? 

Or 

 (b) Explain the importance of accounting standard. 

  PnUQ¯À uμ{ø»PÎß •UQ¯zxÁzøu ÂÍUPÄ®. 

13. (a) What are the objectives of sustainability reporting? 

  {ø»zußø© AÔUøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 
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 (b) Briefly explain the mission of corporate governance. 

  ö£¸{ÖÁÚ {ºÁõPzvß ÷|õUP[PøÍ _¸UP©õP 
ÂÍUPÄ®. 

14. (a) How to complement CSR? 

  ö£¸ {ÖÁÚ \‰P¨ ö£õÖ¨ø£ GÆÁõÖ 
ö\¯À£kzxÁx? 

Or 

 (b) What are the challenge in implementing social 
responsibilities? 

  Põº¨£÷μm \‰P¨ ö£õÖ¨ø£ ö\¯À£kzxÁvÀ 
EÒÍ \ÁõÀPÒ GßÚ? 

15.  (a) What are the scope of business ethics? 

  ÁoP ö|Ô•øÓ°ß ÷|õUP® (AÀ»x) ußø© 
GßÚ? 

Or 

 (b) Briefly explain the business ethics in India. 

  C¢v¯õÂÀ ÁoP ö|Ô•øÓPÒ £ØÔ _¸UP©õP 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the “measures of strengthen corporate 
governance”. 

 ö£¸&{ÖÁÚ {ºÁõPzøu Á¾¨£kzxÁuØPõÚ 
|hÁiUøPPøÍ ÂÍUPÄ®. 

17. What are the functions of SEBI? 

 ö\¤&°ß £oPÒ ¯õøÁ? 
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18. Explain the advantages and disadvantages of 
sustainability and corporate governance. 

 ö£¸ {ÖÁÚ {ºÁõPzvß {ø»¯õÚ ußø© ‰»® 
|ßø©PÒ ©ØÖ® wø©PÒ & ÂÍUPÄ®. 

19. What are the advantages and disadvantages of corporate 
social responsibility of business in India? 

 C¢v¯õÂÀ ÁoPzvß ö£¸ {ÖÁÚ \‰P¨ ö£õÖ¨¤ß 
|ßø© ©ØÖ® wø©PÒ ¯õøÁ? 

20. What are the objectives of social audit? 

 “\‰P uoUøP°ß ÷|õUP[PÒ” ¯õøÁ? 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Financial Management. 
 {v {ºÁõPzøu Áøμ¯ÖUPÄ®. 

2. What is Public Finance? 
 ö£õx {v GßÓõÀ GßÚ? 

3. What is Capital Structure? 
 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 

4. What is Leverage? 
 A¢{¯a ö\»õÁo GßÓõÀ GßÚ? 

5. What is Net Working Capital? 
 {Pμ÷Áø» ‰»uÚ® GßÓõÀ GßÚ? 

6. What is Gross Working Capital? 
 ö©õzu ÷Áø» ‰»uÚ® GßÓõÀ GßÚ? 

7. What do you mean by Capitalization? 
 ‰»uÚ©õUPÀ GßÓõÀ GßÚ? 

Sub. Code 
22BCS5C4 
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8. What is Fair Capitalization? 
 {¯õ¯©õÚ ‰»uÚ©õUPÀ GßÓõÀ GßÚ? 

9. Name Various Motives for Holding Cash. 
 £nzøu øÁzv¸¨£uØPõÚ £À÷ÁÖ ÷|õUP[PøÍU 

SÔ¨¤hÄ®. 

10. What is Inventory Management? 
 \μUS ÷©»õsø© GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Importance of Financial Management. 
  {v {ºÁõPzvß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Explain about the Evolution of Financial 
Management. 

  {v {ºÁõPzvß £›nõ© ÁÍºa] £ØÔ ÂÍUPÄ®. 

12. (a) ABC Company has currently and all equity capital 
structure consisting of 15,000 equity shares of  
Rs. 100 each. The management is planning to raise 
another Rs. 25,00,000 to finance a major 
programme of expansion and is considering three 
alternative methods of financing:  

  (i) To issue 25,000, equity shares of Rs. 100 each. 

  (ii) To issue 25,000, 8% debentures of Rs. 100 
each.  

  (iii) To issue 25,000, 8% preference shares of  
Rs. 100 each.  

   The company’s expected earnings before 
interest and taxes will be Rs. 8,00,000. 
Assuming a corporate tax rate of 50 per cent, 
determine the earning per share in each 
alternative and comment which alternative is 
best and why? 
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  H¤] {ÖÁÚ® uØ÷£õx ©ØÖ® AøÚzx DUÂmi 
‰»uÚ Aø©¨ø£²® 15,000 DUÂmi £[SPÒ  
¹. JÆöÁõßÖ® 100. {ºÁõP® ÷©¾® ¹. 25,00,000 
J¸ ö£›¯ Â›ÁõUP vmhzvØS {v¯ÎUP ©ØÖ® 
‰ßÖ ©õØÖ {v •øÓPøÍ £›^¼zx Á¸QÓx:  

  (i) 25,000 DUÂmi £[SPøÍ öÁÎ°h  
¹. JÆöÁõßÖ® 100. 

  (ii) 25,000 öÁÎ°h, 8% Phß£zvμ[PÒ  
¹. JÆöÁõßÖ® 100. 

  (iii) 25,000 öÁÎ°h, 8% Â¸¨£¨£[SPÒ  
¹. JÆöÁõßÖ® 100.  

   Ámi ©ØÖ® Á›PÐUS •ß {ÖÁÚzvß 
Gvº£õºUP¨£k® Á¸Áõ´ ¹. 8,00,000. 
Põº¨£÷μm Á› ÂQuzøu 50 \uÃu©õPU P¸v, 
JÆöÁõ¸® ©õØÕmi¾® J¸ £[Qß 
Á¸Áõø¯z wº©õÛzx, G¢u ©õØÖ ]Ó¢ux, 
Hß?  

Or 

 (b) Given the following information, you are required to 
compute:  

  (i) Capitalization, 

  (ii) Capital Structure, 

  (iii) Financial Structure.  

Liabilities Rs. 

Equity share capital 10,00,000 

Preference share capital 5,00,000 

Long term loan and debentures 2,00,000 

Retained earnings 6,00,000 

Capital surplus 50,000 

Current liabilities 1,50,000 

 25,00,000 
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  ¤ßÁ¸® uPÁø»U öPõsk,  

  (i) ‰»uÚ©õUPÀ, 

  (ii) ‰»uÚ Aø©¨¦, 

  (iii) {v Aø©¨¦ BQ¯ÁØøÓ }[PÒ PnUQkP: 

ö£õÖ¨¦PÒ ¹. 

DUÂmi £[S ‰»uÚ® 10,00,000 

•ßÝ›ø© £[S ‰»uÚ® 5,00,000 

}shPõ» Phß ©ØÖ® Phß £zvμ[PÒ 2,00,000 

uUP Á¸Áõ´ 6,00,000 

‰»uÚ E£› 50,000 

uØ÷£õøu¯ ö£õÖ¨¦PÒ 1,50,000 

 25,00,000 

13. (a) Explain the Concepts of Working Capital 
Management. 

  £o ‰»uÚ {ºÁõPzvß P¸zxPøÍ ÂÍUSP.  

Or 

 (b) A proforma cost sheet of a company provides the 
following particulars:  

Elements of Cost Amount Per Unit 
Rs. 

Raw materials  80 

Direct labour  30 

Overheads  60 

Total cost 170 

Profit  30 

Selling price 200 
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  The following further particulars are available:  

  Raw materials are in stock on an average for one 
month. Work in process on an average for half a 
month. Finished goods are in stock on an average 
for one month. Credit allowed by suppliers is one 
month. Credit allowed to customers is two months. 
Lag in payment of wages is 1½ weeks. Lag in 
payment of overhead expenses is one month. One-
fourth of the output is sold against cash. Cash in 
hand and at bank is expected to be Rs. 25,000. You 
are required to prepare a statement showing the 
working capital needed to finance a level of activity 
of 1,04,000 units of production. You may assume 
that production is carried on evenly throughout the 
year, wages and overheads accrue similarly and a 
time period 4 weeks is equivalent to a month. 

  J¸ {ÖÁÚzvß ¨÷μõL£õº©õ ö\»ÄzuõÒ ¤ßÁ¸® 
ÂÁμ[PøÍ ÁÇ[SQÓx: 

ö\»Âß TÖPÒ J¸ ³Ûm öuõøP 
¹. 

‰»¨ö£õ¸mPÒ  80 

÷|μi EøÇ¨¦  30 

÷©À {ø»PÒ  60 

ö©õzu ö\»Ä 170 

»õ£®  30 

ÂØ£øÚ Âø» 200 

  ¤ßÁ¸® ÷©¾® ÂÁμ[PÒ QøhUQßÓÚ:  

  \μõ\›¯õP J¸ ©õuzvØS ‰»¨ö£õ¸mPÒ 
øP°¸¨¤À C¸US®. \μõ\›¯õP Aøμ©õuzvØS 
÷Áø» ö\´¯¨£kQÓx. •iUP¨£mh ö£õ¸mPÒ 
\μõ\›¯õP J¸ ©õuzvØS øP°¸¨¤À C¸US®. 
\¨øÍ¯ºPÍõÀ AÝ©vUP¨£k® Phß J¸ ©õu®. 
ÁõiUøP¯õÍºPÐUS ÁÇ[P¨£k® Phß Cμsk 
©õu[PÒ. Fv¯® ÁÇ[SÁvÀ uõ©u® 1½ Áõμ[PÒ. 
÷©À{ø» ö\»ÄPøÍ ö\¾zxÁvÀ uõ©u® J¸ 
©õu®. öÁÎ±miÀ |õßQÀ J¸ £[S £nzvØS 
GvμõP ÂØP¨£kQÓx. øP°¾® Á[Q°¾® öμõUP® 
¹. 25,000, 1,04,000 ³Ûm EØ£zv°ß 
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ö\¯À£õmiØS {v¯ÎUPz ÷uøÁ¯õÚ ö\¯À£õmk 
‰»uÚzøuUPõmk® AÔUøPø¯ }[PÒ u¯õ›UP 
÷Ásk®. EØ£zv¯õÚx Bsk •ÊÁx® \©©õP 
÷©ØöPõÒÍ¨£kQÓx, Fv¯[PÒ ©ØÖ® 
÷©À{ø»PÒ J÷μ ©õv›¯õPUTk® ©ØÖ® 4 
Áõμ[PÒ Gß£x J¸ ©õuzvØSa\©® GßÖ }[PÒ 
P¸u»õ®.  

14. (a) Explain about the Need of Capitalization. 
  ‰»uÚ©õUP¼ß ÷uøÁ £ØÔ ÂÍUPÄ®. 

Or 

 (b) The estimated annual earnings S enterprises Ltd. is 
Rs. 2,00,000. What will be the amount of 
capitalization of the company if the fair rate of 
return earned by similar companies is (i) 12% and 
(ii) 15%. 

  GìGshº¤øμì ì¼ªöhm Bsk Á¸©õÚ®  
¹. 2,00,000. C÷u ÷£õßÓ {ÖÁÚ[PÒ Dmi¯ 
{¯õ¯©õÚ Á¸Áõ´ ÂQu® (i) 12% ©ØÖ®  
(ii) 15% GÛÀ, {ÖÁÚzvß ‰»uÚzvß AÍÄ 
GßÚÁõP C¸US®. 

15.  (a) From the following information, find out economic 
order quantity.  

Annual usage, 10,000 units.  

Cost of placing and receiving one order Rs. 50.  

Cost of materials per unit Rs. 25.  

Annual carrying cost of one unit: 10% of inventory 
value.  

  ¤ßÁ¸® uPÁ¼¼¸¢x, ö£õ¸Íõuõμ JÊ[S 
AÍøÁU PshÔ¯Ä®.  

  Bsk £¯ß£õk, 10,000 A»SPÒ.  

  J¸ Bºhøμ øÁ¨£uØS® ö£ÖÁuØS® BS® 
ö\»Ä ¹. 50.  

  J¸ ³Ûm ö£õ¸mPÎß Âø» ¹. 25.  
  J¸ ³Ûmiß Á¸hõ¢vμ _©¢x ö\À¾® ö\»Ä: 

\μUS ©v¨¤À 10%. 

Or 
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 (b) B Ltd. decides to liberalize credit to increase its 
sales. The liberalized credit policy will bring 
additional sales of Rs. 3,00,000. The variable costs 
will be 60% of sales and there will be 10% risk for 
non-payment and 5% collection costs. Will the 
company benefit from the new credit policy? 

  ¤ ¼ªöhm Auß ÂØ£øÚø¯ AvP›UP PhøÚ 
uõμõÍ©¯©õUP •iÄ ö\´QÓx. 
uõμõÍ©¯©õUP¨£mh Phß öPõÒøP TkuÀ 
ÂØ£øÚ ¹. 3,00,000. ©õÓUTi¯ ö\»ÄPÒ 
ÂØ£øÚ°À 60% C¸US® ©ØÖ® £n® 
ö\¾zuõuuØS 10% B£zx ©ØÖ® 5% Á`À 
ö\»ÄPÒ C¸US®. ¦v¯ Phß öPõÒøP¯õÀ 
{ÖÁÚ® £¯ßö£Ö©õ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe about the Function of Finance Manager. 
 {v ÷©»õÍ›ß ö\¯À£õk £ØÔ ÂÁ›UPÄ®. 

17. Calculate  
(a) Operating Leverage,  
(b) Financial Leverage and  
(c) Composite Leverage from the following figures:  

Particulars Original 
Rs. 

After an increase of 
20% in sales  

Rs. 

Sales (20,000 units at Rs. 10) 2,00,000 2,40,000

Variable cost (Rs. 6 per unit) 1,20,000 1,44,000

Fixed cost 60,000 60,000

Earning Before Interest and Tax 20,000 36,000

Less: Interest 5,000 5,000

Profit Before Tax 15,000 31,000

Tax at 50% 7,500 15,500

Profit after tax 7,500 15,500
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 PnUQk  

 (A) ö\¯À£õmk A¢{¯a ö\»õÁo, 

 (B) {v A¢{¯a ö\»õÁo ÂÍ®£μ® 

 (C) ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎ¼¸¢x Tmk A¢{¯a 
ö\»õÁo: 

ÂÁμ[PÒ A\À 
¹. 

ÂØ£øÚ°À 20% 
AvP›¨¦US¨ ¤ÓS 

¹. 

ÂØ£øÚ (20,000 ³ÛmPÒ ¹. 10) 2,00,000 2,40,000

©õÓUTi¯ Âø» (J¸ ³ÛmkUS ¹. 6) 1,20,000 1,44,000

{ø»¯õÚ ö\»Ä 60,000 60,000

Ámi ©ØÖ® Á›US •ß \®£õvzuÀ 20,000 36,000

SøÓÄ: Ámi 5,000 5,000

Á›US •¢øu¯ »õ£® 15,000 31,000

50% Á› 7,500 15,500

Á›US¨ ¤ß »õ£® 7,500 15,500

18. The following information has been provided by a 
company for the year ended 31.03.2017:  

Liabilities Rs. Assets Rs. 

Equity share capital 2,00,000 Fixed assets less depreciation 3,00,000

85 Debentures 1,00,000 Inventories 1,00,000

Reserves and surplus 50,000 Sundry debtors 70,000

Long term loans 50,000 Cash and bank 10,000

Sundry creditors 80,000  

 4,80,000  4,80,000

 Sales for the year ended 31.03.2017 amounted to  
Rs. 10,00,000 and it is estimated that the same will 
amount to Rs. 12,00,000 for the year 2017-18. You are 
required to estimate the working capital requirements for 
the year 2017-18 assuming a linear relationship between 
sales and working capital. 
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 31.03.2017 •iÁøh¢u BsiØPõÚ ¤ßÁ¸® uPÁÀPÒ 
J¸ {ÖÁÚzuõÀ ÁÇ[P¨£mkÒÍÚ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

DUÂmi £[S ‰»uÚ® 2,00,000 {ø»¯õÚ ö\õzxUPÒ 
SøÓÁõÚ ÷u´©õÚ® 

3,00,000

85 Phß£zvμ[PÒ 1,00,000 \μUSPÒ 1,00,000
C¸¨¦ ©ØÖ® E£› 50,000 £À÷ÁÖ PhÚõÎPÒ 70,000
}sh Põ» PhßPÒ 50,000 £n® ©ØÖ® Á[Q 10,000
£À÷ÁÖ Phß 
ÁÇ[S£ÁºPÒ 

80,000  

 4,80,000  4,80,000

 31.03.2017 B® BsiØPõÚ ÂØ£øÚ ¹. 10,00,000 
©ØÖ® A÷u öuõøP ¹. 2017-18 B® BsiØS 12,00,000. 
2017-18 B® BsiØPõÚ ö\¯À£õmk ‰»uÚz 
÷uøÁPøÍ ÂØ£øÚ ©ØÖ® ö\¯À£õmk ‰»uÚzvØS 
Cøh÷¯ EÒÍ ÷|›¯À EÓøÁU P¸v }[PÒ ©v¨¤h 
÷Ásk®. 

19. The following is the Balance Sheet of ABC Ltd. in 
condensed form:  

 Rs. 

I.  Equity and Liabilities  

 1.  Shareholder’s Funds  

  (a)  Share Capital:  

   2000 Equity shares of Rs. 100 each 2,00,000

   500 preference shares of Rs. 100 each 50,000

  (b)  Current Liabilities 1,00,000

 2.  Non-Current Liabilities 50,000

Total 4,00,000

II.  Assets 

 1.  Non-Current Assets 

  Fixed Assets 3,00,000

 2.  Current Assets 1,00,000

Total 4,00,000
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 The normal rate of return in case of similar business is 
10% ascertain whether the company is over capitalized, 
under-capitalized or fairly capitalized when earnings 
available for equity shareholders are:  

 (i) Rs. 25,000,  

 (ii) Rs. 40,000,  

 (iii) Rs. 30,000. 

 ¤ßÁ¸Á£øÁ H¤] ¼ªöhm Cß ÷£»ßì çm 
_¸UP¨£mh ÁiÁzvÀ EÒÍx: 

 ¹. 

I.  I.Gì. \©£[S ©ØÖ® ö£õÖ¨¦PÒ  

 1.  £[SuõμºPÒ {v  

  (A)  £[S ‰»uÚ®:  

   2000 DUÂmi £[SPÒ ¹. JÆöÁõßÖ® 100 2,00,000

   500 Â¸¨£¨£[SPÒ ¹. JÆöÁõßÖ® 100 50,000

  (B) uØ÷£õøu¯ ö£õÖ¨¦PÒ 1,00,000

 2.  |h¨¦ AÀ»õu ö£õÖ¨¦PÒ 50,000

ö©õzu® 4,00,000

II.  ö\õzxUPÒ 

 1.  |h¨¦ AÀ»õu ö\õzxUPÒ 

  {ø»¯õÚ ö\õzxUPÒ 3,00,000

 2.  uØ÷£õøu¯ ö\õzxUPÒ 1,00,000

ö©õzu® 4,00,000



S–5147 

  

  11

 C÷u ÷£õßÓ ÁoPzvß ÷£õx \õuõμn Á¸Áõ´ ÂQu® 

10% BS®, {ÖÁÚ® AvP ‰»uÚ©õ, SøÓÁõÚ 
‰»uÚ©õ AÀ»x \©£[S £[S uõμºPÐUS Á¸©õÚ® 
QøhUS® ÷£õx {¯õ¯©õÚ ‰»uÚ©õ Gß£øu EÖv 
ö\´¯ ÷Ásk®: 

 (i) Rs. 25,000,  

 (ii) Rs. 40,000,  

 (iii) Rs. 30,000. 

20. A company is expecting to have Rs. 32,000 cash in hand 
on 01.04.2017 and it requests you to prepare cash budget 
for the three months, April to June 2017. The following 
information is supplied to you:  

Month Sales  
Rs. 

Purchases 
Rs. 

Wages 
Rs. 

Expenses 
Rs. 

February 70,000 44,000 6,000 5,000

March 80,000 54,000 9,000 6,000

April 96,000 60,000 9,000 7,000

May 1,00,000 68,000 11,000 9,000

June 1,20,000 62,000 1,40,000 9,000

 Other Information:  

 (a) Period of credit allowed by suppliers is two months. 

 (b) 25% of sales is for cash and the period of credit 
allowed to customers for credit sales is one month. 

 (c) Delay in payment of wages and expenses one 
month. 

 (d) Income tax Rs. 28,000 is to be paid in June 2017. 
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 J¸ {ÖÁÚ® Ts I Gvº£õºUQÓx. 01.04.2017 AßÖ 
øP°À 32,000 öμõUP® EÒÍx. H¨μÀ •uÀ áüß 2017 
Áøμ°»õÚ ‰ßÖ ©õu[PÐUPõÚ £nÁμÄ 
ö\»Äzvmhøuz u¯õ›US©õÖ Ax E[PøÍU ÷Põ¸QÓx. 
¤ßÁ¸® uPÁÀPÒ E[PÐUS ÁÇ[P¨£mkÒÍÚ: 

©õu[PÒ ÂØ£øÚ 
¹. 

öPõÒ•uÀ 
¹. 

T¼PÒ 
¹. 

ö\»ÄPÒ 
¹. 

¤¨μÁ› 70,000 44,000 6,000 5,000

©õºa 80,000 54,000 9,000 6,000

H¨μÀ 96,000 60,000 9,000 7,000

÷© 1,00,000 68,000 11,000 9,000

áüß 1,20,000 62,000 1,40,000 9,000

 ©ØÓ uPÁÀPÒ:  

 (A) \¨øÍ¯ºPÍõÀ AÝ©vUP¨£mh Phß Põ»® Cμsk 
©õu[PÒ. 

 (B) 25% ÂØ£øÚ£nzvØPõPÄ®, Phß ÂØ£øÚUPõP 
ÁõiUøP¯õÍºPÐUS AÝ©vUP¨£k® Phß Põ»® 
J¸ ©õu©õS®. 

 (C) J¸ ©õu® Fv¯® ©ØÖ® ö\»ÄPÒ uõ©u®. 

 (D) Á¸©õÚÁ› ¹. 28,000 áüß 2017 CÀ 
ö\¾zu÷Ásk®. 

———————— 



  

S–5148   

B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2024 

Fifth Semester 

Commerce with Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define ‘industrial undertaking.’ 

 ‘öuõÈÀxøÓ {ÖÁÚzøu’ Áøμ¯Ö. 

2. What does the term ‘Industrial Policy? 

 ‘öuõÈÀxøÓ öPõÒøP’ GßÓ ö\õÀ GßÚ? 

3. What is meant by regulation of combination under the 
Competition Act, 2002? 

 ÷£õmi \mh®, 2002 Cß RÌ ‘÷\ºUøP JÊ[S•øÓ’ 
GßÓõÀ GßÚ? 

4. What is meant by “combination” as per the Competition 
Act, 2002? 

 ÷£õmi \mh®, 2002 Cß £i “P»øÁ” GßÓõÀ GßÚ? 

5. Define “foreign exchange” as per the Foreign Exchange 
Management Act, 1999. 

 A¢v¯ ö\»õÁo ÷©»õsø© \mh®, 1999 Cß £i 
“A¢{¯ ö\»õÁo”  Gß£øu Áøμ¯Ö. 

Sub. Code 
22BCS5C5 



S–5148 

  

  2

6. List Two primary objective of the Foreign Exchange 
Management Act, 1999 (FEMA). 

 A¢v¯ ö\»Áõo ÷©»õsø© \mh®, 1999 (FEMA) Cß 
Cμsk •ußø© ÷|õUP[PøÍ £mi¯¼kP. 

7. Define ‘consumer’ under the Consumer Protection Act, 
1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986 ß RÌ ‘~Pº÷Áõº’  
Gß£øu Áøμ¯Ö. 

8. How does the Consumer Protection Act, 1986 aim to 
protect consumer interests? 

 ~Pº÷Áõº £õxPõ¨¦a \mh® 1986 GÆÁõÖ ~Pº÷Áõº 
|»ßPøÍ¨ £õxPõ¨£øu ÷|õUP©õPU öPõskÒÍx. 

9. Define “environment” as per the Environment Protection 
Act, 1986. 

 _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 Cß £i “_ØÖa`ÇÀ” 
Gß£øu Áøμ¯Ö. 

10. Write any two objectives of the Environment Protection 
Act, 1986? 

 _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 Cß H÷uÝ® Cμsk 
÷|õUP[PøÍ GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the main objectives of the Industries 
(Development and Regulation) Act, 1951? 

  öuõÈÀPÒ (÷©®£õk ©ØÓ® JÊ[S•øÓ) \mh®, 
1951 Cß •UQ¯ ÷|õUP[PÒ GßÚ? 

Or 

 (b) Assess the impact of the Industrial Policy of 1991 on 
the regulatory framework established by the 
Industries (Development and Regulation) Act, 1951. 

  öuõÈÀPÒ (÷©®£õk ©ØÓ® JÊ[S•øÓ) \mh®, 
1951 BÀ {ÖÁ¨£mh JÊ[S•øÓ Pmhø©¨¤ß 
«x 1991 Cß öuõÈÀxøÓ öPõÒøP°ß uõUPzøu 
©v¨¤kP. 
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12. (a) Explain the provisions related to monopolistic and 
restrictive trade practices under the Competition 
Act, 2002. 

  ÷£õmia \mh®, 2002 ß RÌ HP÷£õP ©ØÖ® 
Pmk¨£kzu¨£mh ÁºzuP |øh•øÓPÒ öuõhº£õÚ 
ÂvPøÍ ÂÍUSP. 

Or 
 (b) What is the role of the Competition Commission of 

India (CCI) as per the Competition Act, 2002? 
  ÷£õmia \mh®, 2002 Cß £i, C¢v¯ ÷£õmi 

Bøn¯zvß (CCI) £[S GßÚ? 

13. (a) How does FEMA regulate transactions in foreign 
exchange for residents and non-residents? 

  FEMA BÚx Si°¸¨£õÍºPÒ ©ØÖ® Si²›ø© 
ö£ÓõuÁºPÐUPõÚ A¢{¯a ö\»Áõo°À 
£›ÁºzuøÚPøÍ GÆÁõÖ JÊ[S£kzxQÓx. 

Or 
 (b) Distinguish between current account transactions 

and capital account transactions as per FEMA. 
  FEMA Cß £i |h¨¦U PnUS £›ÁºzuøÚPÒ 

©ØÖ® ‰»uÚ PnUS £›ÁºzuøÚPÒ ÷ÁÖ£kzxP. 

14. (a) What is the primary objective of the Consumer 
Protection Act, 1986?  

  ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986 Cß •ußø© 
÷|õUP® GßÚ? 

Or 
 (b) Explain the right to ‘consumer education’ under the 

Consumer Protection Act, 1986. 
  ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986 RÌ ‘~Pº÷Áõº 

PÀÂ’UPõÚ E›ø©ø¯ ÂÍUSP. 

15.  (a) What are the general powers of the Central 
Government under the Environment Protection Act, 
1986? 

  _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 ß RÌ ©zv¯ 
Aμ]ß  ö£õx AvPõμ[PÒ GßÚ? 

Or 



S–5148 

  

  4

 (b) How does the Environment Protection Act, 1986 
aim to prevent and control environmental pollution? 

  _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 _ØÖa`ÇÀ 
©õ_£õmøhz uk¨£øu²® Pmk¨£kzxÁøu²® 
GÆÁõÖ ÷|õUP©õPU öPõskÒÍx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the penalties for non-compliance with the 
registration and licensing requirement under the 
Industries (Development and Regulation) Act, 1951? 

 öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 1951 
Cß RÌ £vÄ ©ØÖ® E›©z ÷uøÁPÐUS Cn[PõuuØS 
GßÚ A£μõu®? 

17. What measures does the Competition Act, 2002 take to 
control restrictive trade practices? 

 ÷£õmia \mh®, 2002 Pmk¨£kzu¨£mh ÁºzuP 
|øh•øÓPøÍU Pmk¨£kzu GßÚ |hÁiUøPPÒ 
GkUQÓx? 

18. Examine the provisions of FEMA related to the export of 
goods and services. 

 ö£õ¸mPÒ ©ØÖ® ÷\øÁPÎß HØÖ©v öuõhº£õÚ  
FEMA Cß ÂvPøÍ Bμõ¯Ä®. 

19. Describe the role of the District Consumer Disputes 
Redressal Forum under the Consumer Protection Act, 
1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986 ß RÌ ©õÁmh ~Pº÷Áº 
SøÓwº ©ßÓzvß £[øP ÂÁ›. 

20. Discuss the measures are included under the prevention 
and control of environmental pollution as per the Act. 

 \mhzvß£i _ØÖa`ÇÀ ©õ_£õmøhz ukzuÀ ©ØÖ® 
Pmk¨£kzxuÀ BQ¯ÁØÔß RÌ EÒÍ |hÁiUøPPÒ 
£ØÔ ÂÁõv. 

 
———————— 


